
Question Answer ShmoneyAI (ChatGPT-4o-mini) Answer Is Correct/Wrong

What is the FY2018 capital expenditure amount (in USD millions) for 3M? Give a response to the question by relying on the details shown in the cash flow statement.$1577.00 The capital expenditure amount for 3M in FY2018 was $1,577 million (or $1.577 billion).
CORRECT

What drove operating margin change as of FY2022 for 3M? If operating margin is not a useful metric for a company like this, then please state that and explain why.Operating Margin for 3M in FY2022 has decreased by 1.7% primarily due to: 
-Decrease in gross Margin
-mostly one-off charges including Combat Arms Earplugs litigation, impairment related to exiting PFAS manufacturing, costs related to exiting Russia and divestiture-related restructuring
charges

As of FY2022, 3M's operating margin experienced a significant change, primarily driven by the following factors:

Total Revenue and Operating Income:

Total Revenue: $34.229 billion
Operating Income: $6.539 billion
Operating Margin: The operating margin can be calculated as (Operating Income / Total Revenue) * 100, which gives approximately 19.1%.
Cost of Revenue:

The cost of revenue for 3M in FY2022 was $19.232 billion. This indicates that a substantial portion of the revenue was consumed by the costs associated with producing goods and services.
Operating Expenses:

3M's operating expenses, which include selling, general, and administrative expenses (SG&A) and research and development (R&D), totaled 8.209 billion. The SG&A expenses alone were 9.049 billion, which is a significant portion of the total revenue.
Comparison to Previous Years:

In FY2021, 3M had an operating income of
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7.369billionontotalrevenueof35.355 billion, resulting in an operating margin of approximately 20.8%. The decrease in operating margin from FY2021 to FY2022 indicates that either costs increased significantly, or revenue did not grow at the same pace as expenses.
Conclusion on Operating Margin's Usefulness:

Operating margin is a useful metric for assessing a company's efficiency in managing its operating expenses relative to its revenue. However, for a company like 3M, which operates in diverse sectors (including healthcare, consumer goods, and industrial products), the operating margin may not fully capture the company's financial health.

Reasons for Limited Usefulness:
Diverse Product Lines: Different segments may have varying margins, making a consolidated operating margin less informative.
Non-Operating Income: 3M may have significant non-operating income or expenses that can skew the perception of operational efficiency.
One-Time Costs: The presence of one-time costs (e.g., restructuring, legal settlements) can impact operating income and thus the margin, making it less reflective of ongoing operations.
In summary, while operating margin provides insights into operational efficiency, it should be analyzed alongside other financial metrics and contextual factors to gain a comprehensive understanding of a company's performance.
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If we exclude the impact of M&A, which segment has dragged down 3M's overall growth in 2022?The consumer segment shrunk by 0.9% organically. In 2022, the segment that dragged down 3M's overall growth, excluding the impact of mergers and acquisitions (M&A), was primarily the Consumer segment. This segment faced headwinds due to lower demand in home improvement, auto-care, and packaging, which negatively impacted its performance.

While other segments like Safety and Industrial showed positive growth, the challenges in the Consumer segment contributed to a mixed overall performance for the company during that year.Does 3M maintain a stable trend of dividend distribution?Yes, not only they distribute the dividends on a routine basis, 3M has also been increasing the per share dividend for consecutive 65 years3M (MMM) has a history of consistent dividend distributions, although the amounts have varied over the years. Here are some key points regarding its dividend distribution trend:

Recent Dividends:

The most recent dividend was $0.70 per share, declared on November 5, 2024, with an ex-dividend date of November 15, 2024.
Prior to that, the dividend was 
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1.51pershareinFebruary2024and1.50 per share in November 2023.
Historical Trend:

The dividend amount has generally increased over the years, with some fluctuations. For example, the dividend was 
1.48
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1.48in2021and1.49 in 2022.
The company has maintained a steady increase in dividends over the long term, although there have been instances of smaller increases or stable amounts over consecutive periods.
Long-Term Stability:

3M has a long history of paying dividends, which indicates a commitment to returning value to shareholders. The company has been known for its reliability in dividend payments, making it a popular choice among income-focused investors.
Overall, while there may be some fluctuations in the exact amounts, 3M has maintained a stable trend of dividend distribution over the years.

PARTIALLY CORRECT

You are an investment banker and your only resource(s) to answer the following question is (are): the statement of financial position and the cash flow statement. Here's the question: what is the FY2015 operating cash flow ratio for Adobe? Operating cash flow ratio is defined as: cash from operations / total current liabilities. Round your answer to two decimal places.0.66 To calculate the FY2015 operating cash flow ratio for Adobe, we need the cash from operations and total current liabilities for that fiscal year.

From the data retrieved:

Cash from Operations (Operating Cash Flow) for FY2015: $1,469,502,000
Total Current Liabilities for FY2015: $2,213,556,000
Now, we can calculate the operating cash flow ratio using the formula:

[ \text{Operating Cash Flow Ratio} = \frac{\text{Cash from Operations}}{\text{Total Current Liabilities}} ]

Substituting the values:

[ \text{Operating Cash Flow Ratio} = \frac{1,469,502,000}{2,213,556,000} \approx 0.663 ]

Rounding to two decimal places, the FY2015 operating cash flow ratio for Adobe is 0.66.
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What is Adobe's year-over-year change in unadjusted operating income from FY2015 to FY2016 (in units of percents and round to one decimal place)? Give a solution to the question by using the income statement.65.4% To calculate Adobe's year-over-year change in unadjusted operating income from FY2015 to FY2016, we will use the operating income values from the income statements for those fiscal years.

Operating Income for FY2015:

Operating Income (FY2015) = $903,095,000
Operating Income for FY2016:

Operating Income (FY2016) = $1,493,602,000
Calculate the Year-over-Year Change:

Change in Operating Income = Operating Income (FY2016) - Operating Income (FY2015)
Change in Operating Income = 
1
,
493
,
602
,
000
−
1,493,602,000−903,095,000 = $590,507,000
Calculate the Percentage Change:

Percentage Change = (Change in Operating Income / Operating Income (FY2015)) * 100
Percentage Change = (
590
,
507
,
000
/
590,507,000/903,095,000) * 100 ≈ 65.4%
Thus, Adobe's year-over-year change in unadjusted operating income from FY2015 to FY2016 is approximately 65.4%.

What is the FY2017 operating cash flow ratio for Adobe? Operating cash flow ratio is defined as: cash from operations / total current liabilities. Round your answer to two decimal places. Please utilize information provided primarily within the balance sheet and the cash flow statement.0.83 To calculate the operating cash flow ratio for Adobe for FY2017, we need the cash from operations and the total current liabilities.

From the data retrieved:

Cash from Operations (Operating Cash Flow) for FY2017: $2,912,853,000
Total Current Liabilities for FY2017: $3,527,457,000
Now, we can calculate the operating cash flow ratio using the formula:

[ \text{Operating Cash Flow Ratio} = \frac{\text{Cash from Operations}}{\text{Total Current Liabilities}} ]

Substituting the values:

[ \text{Operating Cash Flow Ratio} = \frac{2,912,853,000}{3,527,457,000} \approx 0.826 ]

Rounding to two decimal places, the operating cash flow ratio for Adobe in FY2017 is 0.83.

INCORRECT

Does Adobe have an improving operating margin profile as of FY2022? If operating margin is not a useful metric for a company like this, then state that and explain why.No the operating margins of Adobe have recently declined from 36.8% in FY 2021 to 34.6% in FY2022. A drop by 2.2% in a year.To assess whether Adobe has an improving operating margin profile as of FY2022, we can analyze the operating income and total revenue over the past few years.

Operating Margin Calculation

The operating margin is calculated as follows:

[ \text{Operating Margin} = \frac{\text{Operating Income}}{\text{Total Revenue}} \times 100 ]

Data from FY2022

Total Revenue (FY2022): $17,606,000,000
Operating Income (FY2022): $6,098,000,000
Calculating the operating margin for FY2022:

[ \text{Operating Margin (FY2022)} = \frac{6,098,000,000}{17,606,000,000} \times 100 \approx 34.6% ]

Historical Comparison

Let's look at the operating margins for the previous fiscal years:

FY2021:

Total Revenue: $15,785,000,000
Operating Income: $5,802,000,000
Operating Margin: (\frac{5,802,000,000}{15,785,000,000} \times 100 \approx 36.8%)
FY2020:

Total Revenue: $12,868,000,000
Operating Income: $4,237,000,000
Operating Margin: (\frac{4,237,000,000}{12,868,000,000} \times 100 \approx 32.9%)
Summary of Operating Margins

FY2020: 32.9%
FY2021: 36.8%
FY2022: 34.6%
Conclusion

From FY2020 to FY2021, Adobe's operating margin improved significantly from 32.9% to 36.8%. However, in FY2022, the operating margin decreased to approximately 34.6%. This indicates that while Adobe had an improving operating margin profile from FY2020 to FY2021, it did not continue to improve in FY2022.

Is Operating Margin a Useful Metric for Adobe?

Operating margin is generally a useful metric for assessing the profitability of a company like Adobe, which operates in the software and technology sector. It reflects how efficiently a company is managing its operating expenses relative to its revenue. However, it is essential to consider other factors such as:

Growth Investments: Companies like Adobe often invest heavily in research and development (R&D) and marketing, which can impact operating margins in the short term but may lead to long-term growth.
Recurring Revenue Model: Adobe's subscription-based model can lead to fluctuations in operating margins based on customer acquisition costs and retention strategies.
Market Conditions: Economic conditions and competitive pressures can also affect operating margins.
In summary, while operating margin is a useful metric, it should be analyzed in conjunction with other financial metrics and qualitative factors to get a complete picture of Adobe's financial health and operational efficiency.
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Does Adobe have an improving Free cashflow conversion as of FY2022?Yes, the FCF conversion (using net income as the denominator) for Adobe has improved by ~13% from 143% in 2021 to 156% in 2022To determine if Adobe has an improving Free Cash Flow (FCF) conversion as of FY2022, we can calculate the Free Cash Flow for the fiscal years and analyze the trend.

Free Cash Flow Calculation

Free Cash Flow (FCF) is calculated as: [ \text{FCF} = \text{Operating Cash Flow} - \text{Capital Expenditures} ]

Data for FY2022

Operating Cash Flow (FY2022): $7,838,000,000
Capital Expenditures (FY2022): $442,000,000
Calculation for FY2022

[ \text{FCF}_{2022} = 7,838,000,000 - 442,000,000 = 7,396,000,000 ]

Data for FY2021 (for comparison)

Operating Cash Flow (FY2021): $7,230,000,000
Capital Expenditures (FY2021): $348,000,000
Calculation for FY2021

[ \text{FCF}_{2021} = 7,230,000,000 - 348,000,000 = 6,882,000,000 ]

Analysis

FCF FY2022: $7,396,000,000
FCF FY2021: $6,882,000,000
Conclusion

Adobe's Free Cash Flow increased from FY2021 to FY2022, indicating an improving Free Cash Flow conversion. The increase in FCF suggests that Adobe is generating more cash from its operations relative to its capital expenditures, which is a positive sign for the company's financial health.

What is the quantity of restructuring costs directly outlined in AES Corporation's income statements for FY2022? If restructuring costs are not explicitly outlined then state 0.0 The income statement for AES Corporation for FY2022 does not explicitly outline any restructuring costs. Therefore, the quantity of restructuring costs is 0.
DATE OF TEST

What is Amazon's year-over-year change in revenue from FY2016 to FY2017 (in units of percents and round to one decimal place)? Calculate what was asked by utilizing the line items clearly shown in the statement of income.30.8% To calculate Amazon's year-over-year change in revenue from FY2016 to FY2017, we will use the total revenue figures from the income statements for those years.

    Total Revenue for FY2016: $135,565,000,000
    Total Revenue for FY2017: $177,265,000,000

The formula for calculating the year-over-year percentage change is:

[ \text{Percentage Change} = \left( \frac{\text{New Value} - \text{Old Value}}{\text{Old Value}} \right) \times 100 ]

Substituting the values:

[ \text{Percentage Change} = \left( 177,265,000,000−135,565,000,000135,565,000,000135,565,000,000177,265,000,000−135,565,000,000  \right) \times 100 ]

Calculating this gives:

[ \text{Percentage Change} = \left( 41,700,000,000135,565,000,000135,565,000,00041,700,000,000  \right) \times 100 \approx 30.8% ]

Thus, Amazon's year-over-year change in revenue from FY2016 to FY2017 is approximately 30.8%.

29th of Jan 2025

By drawing conclusions from the information stated only in the income statement, what is Amazon's FY2019 net income attributable to shareholders (in USD millions)?$11588.00 Amazon's FY2019 net income attributable to shareholders is **11,588million∗∗(or11,588million∗∗(or11.588 billion).

What was the key agenda of the AMCOR's 8k filing dated 1st July 2022?Amcor Finance (USA), Inc. and Amcor Flexibles North America, Inc., entered into supplemental indentures relating to Guaranteed Senior Notes due 2026 and 2028. This involved the substitution of the Substitute Issuer (Amcor Flexibles North America) for the Former Issuer (Amcor Finance) and the assumption of covenants under the indentures. (In essence a novation agreement)On July 1, 2022, AMCOR PLC filed a Form 8-K current report, which was made on June 30, 2022. The key agenda of this filing involved the execution of two supplemental indentures related to the substitution of Amcor Flexibles North America, Inc. as the issuer of certain senior notes.

Specifically, the filing detailed:

    The substitution of Amcor Flexibles North America, Inc. (the "Substitute Issuer") for Amcor Finance (USA), Inc. (the "Former Issuer") in relation to the 3.625% Guaranteed Senior Notes due 2026 and the 4.500% Guaranteed Senior Notes due 2028.
    The assumption by the Substitute Issuer of the covenants of the Former Issuer under the indentures governing these notes.

This action was part of AMCOR's ongoing financial management and restructuring efforts.

For more detailed information, you can view the full filing here.

What industry does AMCOR primarily operate in? Amcor is a global leader in packaging production for various use cases. Amcor primarily operates in the packaging industry. The company specializes in providing packaging solutions for various sectors, including food, beverage, healthcare, and personal care products.
Number Percent

Does AMCOR have an improving gross margin profile as of FY2023? If gross margin is not a useful metric for a company like this, then state that and explain why.No. For AMCOR there has been a slight decline in gross margins by 0.8%. To evaluate whether Amcor (ticker: AMCR) has an improving gross margin profile as of FY2023, we can analyze the gross profit and total revenue figures from the income statements for the relevant fiscal years.
Gross Margin Calculation

Gross margin is calculated as follows:

[ \text{Gross Margin} = \frac{\text{Gross Profit}}{\text{Total Revenue}} \times 100 ]
Gross Margin Data

    FY2023 (ending June 30, 2023):
        Gross Profit: $2,725,000,000
        Total Revenue: $14,601,000,000
        Gross Margin: (2,725,000,00014,601,000,00014,601,000,0002,725,000,000  \times 100 \approx 18.63%)

    FY2022 (ending June 30, 2022):
        Gross Profit: $2,820,000,000
        Total Revenue: $14,402,000,000
        Gross Margin: (2,820,000,00014,402,000,00014,402,000,0002,820,000,000  \times 100 \approx 19.61%)

Analysis

    FY2023 Gross Margin: 18.63%
    FY2022 Gross Margin: 19.61%

The gross margin has decreased from 19.61% in FY2022 to 18.63% in FY2023. This indicates that Amcor does not have an improving gross margin profile; rather, it has experienced a decline in gross margin.
Conclusion

Amcor's gross margin has decreased from FY2022 to FY2023, suggesting that the company is facing challenges in maintaining its profitability relative to its revenue.
Additional Consideration

If gross margin is not a useful metric for a company like Amcor, it could be due to the nature of its business. Amcor operates in the packaging industry, where factors such as raw material costs, production efficiency, and pricing strategies can significantly impact gross margins. In such cases, other metrics like operating margin, net profit margin, or cash flow metrics may provide a more comprehensive view of the company's financial health and operational efficiency.

Total Questions 147 100.00

What is the nature & purpose of AMCOR's restructuring liability as oF Q2 of FY2023 close?87% of the total restructuring liability is related Employee liabilities. As of the close of Q2 FY2023, Amcor's restructuring liability is primarily related to costs associated with restructuring initiatives aimed at improving operational efficiency and reducing costs. This liability typically includes expenses related to employee severance, facility closures, and other costs incurred during the restructuring process.
Nature of Restructuring Liability:

    Employee Severance Costs: Payments to employees who are laid off as part of the restructuring efforts.
    Facility Closure Costs: Expenses related to the closure of manufacturing plants or offices, including lease termination costs and asset write-downs.
    Consulting Fees: Costs associated with hiring external consultants to assist in the restructuring process.
    Other Related Costs: This may include costs for retraining employees, relocating staff, or other operational changes.

Purpose of Restructuring Liability:

    Cost Reduction: The primary goal is to reduce operational costs and improve profitability.
    Operational Efficiency: Streamlining operations to enhance productivity and efficiency.
    Strategic Realignment: Aligning the company's resources and capabilities with its strategic goals and market demands.
    Long-term Growth: Positioning the company for sustainable growth by optimizing its operational structure.

Financial Impact:

As of Q2 FY2023, Amcor's restructuring liability reflects the company's commitment to these initiatives, which are expected to yield long-term benefits despite the short-term costs associated with the restructuring process.

If you need more specific figures or details regarding the restructuring liability, please let me know!

Correct 75 51.02

What are the major products and services that AMD sells as of FY22?AMD sells server microprocessors (CPUs) and graphics processing units (GPUs), data processing units (DPUs), Field Programmable Gate Arrays (FPGAs), and Adaptive System-on-Chip (SoC) products for data centers; CPUs, accelerated processing units (APUs) that integrate CPUs and GPUs, and chipsets for desktop and notebook personal computers; discrete GPUs, and semi-custom SoC products and development services; and embedded CPUs, GPUs, APUs, FPGAs, and Adaptive SoC products.As of FY22, Advanced Micro Devices, Inc. (AMD) primarily sells the following major products and services:

Microprocessors: AMD is well-known for its high-performance microprocessors, including the Ryzen series for desktops and laptops, and EPYC processors for servers and data centers.

Graphics Processing Units (GPUs): AMD produces GPUs under the Radeon brand, catering to both gaming and professional markets. This includes the Radeon RX series for gamers and Radeon Pro series for professionals.

Chipsets: AMD manufactures chipsets that support its processors, enhancing performance and connectivity for motherboards.

Embedded Solutions: AMD offers embedded processors and solutions for various applications, including industrial, automotive, and networking.

Semi-Custom Solutions: AMD provides semi-custom chips for gaming consoles and other devices, such as those used in PlayStation and Xbox consoles.

Software and Development Tools: AMD offers software solutions, including drivers, development tools, and optimization software to enhance the performance of its hardware.

Cloud and Data Center Solutions: AMD's EPYC processors are widely used in cloud computing and data center environments, providing high performance and efficiency.

These products and services position AMD as a key player in the semiconductor industry, competing with other major companies like Intel and NVIDIA.

Partially Correct 32 21.77

What drove revenue change as of the FY22 for AMD? In 2022, AMD reported Higher sales of their EPYC server processors, higher semi-custom product sales, and the inclusion of Xilinx embedded product salesAs of the fiscal year 2022 (FY22), AMD reported the following financial figures:

Total Revenue: $23.65 billion
Gross Profit: $10.60 billion
Operating Income: $1.26 billion
Net Income: $1.32 billion
Revenue Change Drivers:

Product Demand: AMD's revenue growth was driven by strong demand for its processors and graphics cards, particularly in the gaming and data center markets.

Market Expansion: The company expanded its market presence, particularly in the data center segment, which contributed significantly to revenue growth.

New Product Launches: The introduction of new products, including the Ryzen and EPYC processors, helped capture market share and drive sales.

Increased Sales Volume: The overall increase in sales volume across various product lines contributed to the revenue growth.

Pricing Strategy: AMD's pricing strategy, which included competitive pricing for its products, helped attract more customers.

Strategic Partnerships: Collaborations with major tech companies and OEMs (Original Equipment Manufacturers) enhanced AMD's distribution and sales channels.

Comparison with Previous Year:

In FY21, AMD reported total revenue of $16.40 billion. The increase to $23.65 billion in FY22 reflects a significant growth trajectory, indicating a robust performance in the semiconductor market.

Overall, AMD's revenue change in FY22 was driven by a combination of strong product demand, market expansion, new product launches, and strategic partnerships.

Incorrect 40 27.21

Among operations, investing, and financing activities, which brought in the most (or lost the least) cash flow for AMD in FY22?In 2022, AMD brought in the most cashflow from Operations In FY22, AMD's cash flow from different activities was as follows:

Operating Activities: $3,565,000,000
Investing Activities: $1,999,000,000
Financing Activities: -$3,264,000,000
Summary:

Operating Activities brought in the most cash flow at $3.57 billion.
Investing Activities also contributed positively with $2 billion.
Financing Activities resulted in a cash outflow of -$3.26 billion.
Thus, the Operating Activities brought in the most cash flow for AMD in FY22.

Which debt securities are registered to trade on a national securities exchange under American Express' name as of 2022?There are none Which debt securities are registered to trade on a national securities exchange under American Express' name as of 2022?

What are the geographies that American Express primarily operates in as of 2022?United States, EMEA, APAC, and LACC As of 2022, American Express primarily operates in the following geographies:

United States: The largest market for American Express, where it offers a wide range of financial services, including credit cards, charge cards, and travel-related services.

Canada: American Express provides similar services in Canada, catering to both consumers and businesses.

Europe: American Express has a significant presence in various European countries, including the United Kingdom, Germany, France, and Spain, offering credit and charge cards, as well as travel services.

Latin America: The company operates in several Latin American countries, including Mexico and Brazil, providing credit card services and travel-related products.

Asia-Pacific: American Express has a growing presence in the Asia-Pacific region, including markets like Australia, Japan, and India, where it offers a range of financial products and services.

Middle East and Africa: American Express also operates in select countries in the Middle East and Africa, providing services tailored to local markets.

Overall, American Express has a global footprint, with a focus on markets where it can leverage its brand and service offerings effectively.

Source of Questions

Does AMEX have an improving operating margin profile as of 2022? If operating margin is not a useful metric for a company like this, then state that and explain why.Performance is not measured through operating margin To assess whether American Express (AMEX) has an improving operating margin profile as of 2022, we can look at the operating income and total revenue figures from the income statements for the relevant years.

Operating Margin Calculation

The operating margin is calculated as follows:

Operating Margin
=
Operating Income
Total Revenue
×
100
Operating Margin= 
Total Revenue
Operating Income
         
 ×100
2022 Data

Total Revenue (2022): $55,625,000,000
Operating Income (2022): -$5,684,000,000
Operating Margin (2022)
=
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Operating Margin (2022)= 
55,625,000,000
−5,684,000,000
         
 ×100≈−10.21%
2021 Data

Total Revenue (2021): $43,663,000,000
Operating Income (2021): $553,000,000
Operating Margin (2021)
=
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000
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Operating Margin (2021)= 
43,663,000,000
553,000,000
         
 ×100≈1.27%
Summary of Operating Margins

2021 Operating Margin: 1.27%
2022 Operating Margin: -10.21%
Conclusion

The operating margin for AMEX worsened significantly from 2021 to 2022, moving from a positive margin of 1.27% to a negative margin of -10.21%. This indicates that AMEX does not have an improving operating margin profile as of 2022.

Explanation of Operating Margin's Relevance

Operating margin can be a useful metric for many companies, but for a financial services company like American Express, it may not be the most relevant metric. This is because:

Revenue Composition: AMEX's revenue is heavily influenced by non-interest income (like fees and commissions) rather than traditional product sales, which can distort operating margin calculations.

Cost Structure: Financial companies often have different cost structures compared to manufacturing or retail companies, making operating income less indicative of overall financial health.

Focus on Other Metrics: Investors may focus more on metrics like return on equity (ROE), net interest margin, or earnings per share (EPS) for financial institutions, as these provide a clearer picture of profitability and efficiency.

In summary, while operating margin is a standard metric, it may not fully capture the financial performance of a company like American Express.

https://huggingface.co/datasets/PatronusAI/financebench

What drove gross margin change as of the FY2022 for American Express? If gross margin is not a useful metric for a company like this, then please state that and explain why.Performance is not measured through gross margin For American Express (ticker: AXP), the gross margin change from FY2021 to FY2022 can be analyzed using the following figures:

FY2021:

Total Revenue: $43.66 billion
Gross Profit: $12.11 billion
Gross Margin: 
12.11
43.66
×
100
≈
27.7
%
43.66
12.11
         
 ×100≈27.7%
FY2022:

Total Revenue: $55.63 billion
Gross Profit: $7.40 billion
Gross Margin: 
7.40
55.63
×
100
≈
13.3
%
55.63
7.40
         
 ×100≈13.3%
Change in Gross Margin

The gross margin decreased from approximately 27.7% in FY2021 to 13.3% in FY2022. This significant decline can be attributed to several factors:

Increased Cost of Revenue: The cost of revenue increased from $31.55 billion in FY2021 to $48.23 billion in FY2022, which significantly impacted the gross profit.

Revenue Growth vs. Cost Growth: While total revenue increased, the cost of revenue grew at a faster rate, leading to a lower gross profit margin.

Business Model: American Express operates primarily in the financial services sector, where gross margin may not be as critical a metric as it is for product-based companies. The company's revenue is heavily influenced by transaction volumes, fees, and interest income rather than traditional product sales.

Is Gross Margin a Useful Metric for American Express?

Gross margin may not be the most useful metric for American Express for the following reasons:

Nature of Business: American Express primarily earns revenue through fees and interest from cardholders and merchants, rather than selling physical goods. Therefore, gross margin may not accurately reflect the company's profitability or operational efficiency.

Focus on Other Metrics: Financial services companies often focus on metrics such as net interest income, operating income, and return on equity, which provide a clearer picture of financial health and performance.

Complex Revenue Streams: The revenue model includes various streams (transaction fees, interest income, etc.), making gross margin less relevant compared to metrics that account for the overall profitability of these diverse income sources.

In summary, while the gross margin for American Express showed a significant decline from FY2021 to FY2022, it may not be the most relevant metric for evaluating the company's performance due to the nature of its business model.

How much has the effective tax rate of American Express changed between FY2021 and FY2022?The effective tax rate for American Express has changed/dropped from 24.6% in FY 2021 to 21.6% in FY 2022.To calculate the change in the effective tax rate of American Express between FY2021 and FY2022, we need to find the effective tax rate for both years.

The effective tax rate is calculated as follows:

Effective Tax Rate
=
Income Tax Expense
Income Before Tax
Effective Tax Rate= 
Income Before Tax
Income Tax Expense
         
 
For FY2021:

Income Tax Expense: $2,629,000,000
Income Before Tax: $10,689,000,000
Effective Tax Rate (FY2021)
=
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%
Effective Tax Rate (FY2021)= 
10,689,000,000
2,629,000,000
         
 ≈0.2455 or 24.55%
For FY2022:

Income Tax Expense: $2,071,000,000
Income Before Tax: $9,585,000,000
Effective Tax Rate (FY2022)
=
2
,
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,
000
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≈
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 or 
21.65
%
Effective Tax Rate (FY2022)= 
9,585,000,000
2,071,000,000
         
 ≈0.2165 or 21.65%
Change in Effective Tax Rate:

Change
=
Effective Tax Rate (FY2022)
−
Effective Tax Rate (FY2021)
=
21.65
%
−
24.55
%
=
−
2.90
%
Change=Effective Tax Rate (FY2022)−Effective Tax Rate (FY2021)=21.65%−24.55%=−2.90%
Thus, the effective tax rate of American Express decreased by approximately 2.90% from FY2021 to FY2022.

Was American Express able to retain card members during 2022?Yes Yes, American Express was able to retain card members during 2022. The retention was notably high, driven by the premium benefits and extensive perks associated with their flagship cards, such as the Platinum Card® and the Delta SkyMiles® Reserve American Express Card. These cards offer substantial annual statement credits, elite status perks, and airport lounge access, which significantly contribute to customer loyalty and retention. Additionally, rideshare credits and travel-related benefits further enhance the value proposition, ensuring that members remain engaged and satisfied with their card choices.

Does American Water Works have positive working capital based on FY2022 data? If working capital is not a useful or relevant metric for this company, then please state that and explain why.No, American Water Works had negative working capital of -$1561M in FY 2022.To determine if American Water Works (ticker: AWK) has positive working capital based on FY2022 data, we need to calculate working capital using the formula:

Working Capital = Total Current Assets - Total Current Liabilities

From the FY2022 balance sheet data:

Total Current Assets: $1,250,000,000
Total Current Liabilities: $2,811,000,000
Now, let's calculate the working capital:

Working Capital
=
1
,
250
,
000
,
000
−
2
,
811
,
000
,
000
=
−
1
,
561
,
000
,
000
Working Capital=1,250,000,000−2,811,000,000=−1,561,000,000
Conclusion:

American Water Works has negative working capital of -$1,561,000,000 for FY2022.

Relevance of Working Capital for American Water Works:

Working capital is a measure of a company's short-term liquidity and operational efficiency. However, for utility companies like American Water Works, working capital may not be as relevant a metric as it is for other industries. This is because:

Stable Revenue Streams: Utility companies often have stable and predictable revenue streams due to regulated pricing and consistent demand for their services, which can lead to less variability in cash flow.

Capital-Intensive Nature: Utility companies are capital-intensive and often have significant long-term assets and liabilities. Their operations are more focused on long-term investments rather than short-term liquidity.

Regulatory Environment: The regulatory environment in which utility companies operate can also affect their working capital needs, as they may have specific requirements for cash reserves or liquidity.

In summary, while American Water Works does have negative working capital, this metric may not provide a complete picture of the company's financial health or operational efficiency due to the nature of its business.

What is the year end FY2019 total amount of inventories for Best Buy? Answer in USD millions. Base your judgments on the information provided primarily in the balance sheet.$5409.00 The year-end total amount of inventories for Best Buy for FY2019 (fiscal year ending February 2, 2019) was $5,409 million (or $5.409 billion).

https://huggingface.co/datasets/PatronusAI/financebench
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Are Best Buy's gross margins historically consistent (not fluctuating more than roughly 2% each year)? If gross margins are not a relevant metric for a company like this, then please state that and explain why.Yes, the margins have been consistent, there has been a minor decline of 1.1% in gross margins between FY2022 and FY2023.To assess the historical consistency of Best Buy's gross margins, we can calculate the gross margin for each year based on the provided income statements. The gross margin is calculated using the formula:

Gross Margin
=
Gross Profit
Total Revenue
×
100
Gross Margin= 
Total Revenue
Gross Profit
         
 ×100
Let's calculate the gross margins for the last several years:

Fiscal Year 2024:

Gross Profit: $9,603,000,000
Total Revenue: $43,452,000,000
Gross Margin: 
9
,
603
,
000
,
000
43
,
452
,
000
,
000
×
100
≈
22.1
%
43,452,000,000
9,603,000,000
         
 ×100≈22.1%
Fiscal Year 2023:

Gross Profit: $9,912,000,000
Total Revenue: $46,298,000,000
Gross Margin: 
9
,
912
,
000
,
000
46
,
298
,
000
,
000
×
100
≈
21.4
%
46,298,000,000
9,912,000,000
         
 ×100≈21.4%
Fiscal Year 2022:

Gross Profit: $11,640,000,000
Total Revenue: $51,761,000,000
Gross Margin: 
11
,
640
,
000
,
000
51
,
761
,
000
,
000
×
100
≈
22.5
%
51,761,000,000
11,640,000,000
         
 ×100≈22.5%
Fiscal Year 2021:

Gross Profit: $10,573,000,000
Total Revenue: $47,262,000,000
Gross Margin: 
10
,
573
,
000
,
000
47
,
262
,
000
,
000
×
100
≈
22.4
%
47,262,000,000
10,573,000,000
         
 ×100≈22.4%
Fiscal Year 2020:

Gross Profit: $10,048,000,000
Total Revenue: $43,638,000,000
Gross Margin: 
10
,
048
,
000
,
000
43
,
638
,
000
,
000
×
100
≈
23.0
%
43,638,000,000
10,048,000,000
         
 ×100≈23.0%
Fiscal Year 2019:

Gross Profit: $9,961,000,000
Total Revenue: $42,879,000,000
Gross Margin: 
9
,
961
,
000
,
000
42
,
879
,
000
,
000
×
100
≈
23.2
%
42,879,000,000
9,961,000,000
         
 ×100≈23.2%
Fiscal Year 2018:

Gross Profit: $9,876,000,000
Total Revenue: $42,151,000,000
Gross Margin: 
9
,
876
,
000
,
000
42
,
151
,
000
,
000
×
100
≈
23.4
%
42,151,000,000
9,876,000,000
         
 ×100≈23.4%
Summary of Gross Margins:

2024: 22.1%
2023: 21.4%
2022: 22.5%
2021: 22.4%
2020: 23.0%
2019: 23.2%
2018: 23.4%
Analysis:

The gross margins for Best Buy have fluctuated over the years, with variations of more than 2% between some years. For instance, the gross margin dropped from 23.4% in 2018 to 21.4% in 2023, which is a fluctuation of about 2% or more.

Conclusion:

Best Buy's gross margins are not historically consistent, as they have fluctuated more than 2% each year. This fluctuation can be attributed to various factors, including changes in sales volume, pricing strategies, competition, and shifts in consumer demand, which are common in the retail industry.

In the context of a retail company like Best Buy, gross margins are indeed a relevant metric as they provide insight into the company's pricing strategy and cost management. However, it's essential to consider other factors such as operating expenses, net income, and market conditions to get a comprehensive view of the company's financial health.

Among operations, investing, and financing activities, which brought in the most (or lost the least) cash flow for Best Buy in FY2023?Best Buy generated the most cash flow from operating activities in FY 2023 ($1.8 bn)In FY2023, Best Buy's cash flow from different activities was as follows:

Operating Activities: $1,824,000,000
Investing Activities: -$962,000,000 (cash outflow)
Financing Activities: -$1,806,000,000 (cash outflow)
Among these activities, operating activities brought in the most cash flow, totaling $1.824 billion.

Has Boeing reported any materially important ongoing legal battles from FY2022?Yes. Multiple lawsuits have been filed against Boeing resulting from a 2018 Lion Air crash and a 2019 Ethiopian Airlines crash.In FY2022, Boeing faced significant ongoing legal challenges, particularly related to a rejected plea deal with the U.S. Justice Department (DOJ). The plea deal was intended to protect Boeing from a criminal trial concerning allegations that the company misled Federal Aviation Administration (FAA) officials prior to two fatal 737 Max crashes that resulted in the deaths of 346 people.

The plea deal was initially rejected by a Texas federal district court, and both Boeing and the DOJ indicated that they were still working "in good faith" to amend the agreement. The DOJ did not engage with Boeing on a revised plea agreement until after soliciting feedback from the families of the crash victims in December 2022. This situation highlighted that Boeing's legal issues from 2022 continued into the following year, with no immediate resolution in sight.

For more detailed information, you can refer to the article here.

Does Boeing have an improving gross margin profile as of FY2022? If gross margin is not a useful metric for a company like this, then state that and explain why.Yes. Boeing has an improving gross margin profile as of FY2022. Gross profit improved from $3,017 million in FY2021 to $3,502 million in FY2022. Gross margin % improved from 4.8% in FY2021 to 5.3% in FY2022.As of FY2022, Boeing's gross margin profile does not show an improving trend. Here are the relevant figures:

FY2022:

Total Revenue: $66.6 billion
Gross Profit: $3.53 billion
Gross Margin: 
3.53
 billion
66.6
 billion
≈
5.3
%
66.6 billion
3.53 billion
         
 ≈5.3%
FY2021:

Total Revenue: $62.3 billion
Gross Profit: $3.02 billion
Gross Margin: 
3.02
 billion
62.3
 billion
≈
4.8
%
62.3 billion
3.02 billion
         
 ≈4.8%
While there is a slight increase in gross margin from FY2021 to FY2022, the overall gross margin remains low, indicating challenges in profitability.

Is Gross Margin a Useful Metric for Boeing?

Gross margin can be a useful metric for many companies, but for Boeing, it may not fully capture the company's financial health for several reasons:

Complexity of Operations: Boeing operates in a highly complex industry with significant fixed costs, long production cycles, and substantial R&D investments. This complexity can distort gross margin figures.

Revenue Recognition: Boeing's revenue recognition practices, especially in defense and commercial aircraft, can lead to fluctuations in reported revenue and gross profit that do not reflect operational performance.

Long-Term Contracts: Many of Boeing's contracts are long-term, and the profitability of these contracts may not be evident in the short-term gross margin figures.

Market Conditions: The aerospace industry is sensitive to economic cycles, regulatory changes, and geopolitical factors, which can impact revenue and costs in ways that gross margin alone cannot explain.

In summary, while gross margin provides some insight, it may not be the most effective metric for evaluating Boeing's financial performance due to the unique characteristics of its business model. Other metrics, such as operating income, net income, and cash flow, may provide a more comprehensive view of the company's financial health.

Is Boeing's business subject to cyclicality? Yes, Boeing's business is subject to cyclicality due to its exposure to the airline industry which is a cyclical industry.Yes, Boeing's business is subject to cyclicality. The aerospace and defense industry, in which Boeing operates, tends to experience cyclical fluctuations due to various factors, including:

Economic Conditions: Demand for commercial aircraft is closely tied to the overall health of the global economy. During economic expansions, airlines tend to invest in new aircraft to meet increased travel demand. Conversely, during recessions, demand may decline as airlines cut back on spending.

Government Spending: Boeing's defense segment relies on government contracts, which can be influenced by changes in government budgets and defense spending priorities. Economic downturns may lead to reduced defense budgets, impacting Boeing's defense sales.

Airline Profitability: The financial health of airlines directly affects their purchasing decisions. When airlines are profitable, they are more likely to order new aircraft. However, during periods of financial strain, airlines may defer or cancel orders.

Technological Advancements: The introduction of new technologies can create cycles in demand as airlines seek to modernize their fleets with more fuel-efficient and advanced aircraft.

Global Events: Events such as geopolitical tensions, pandemics (like COVID-19), and natural disasters can disrupt travel and impact demand for both commercial and defense aircraft.

Overall, Boeing's business is influenced by these cyclical factors, leading to fluctuations in revenue and profitability over time.

What production rate changes is Boeing forecasting for FY2023?Boeing forecasts an increase in the production rates for the 737, 777X and 787 aircrafts in 2023.Boeing is forecasting an increase in its 737 production rate for FY2023. The company aims to produce at least 38 jets monthly, with the potential to reach 42 jets monthly, pending approval from the Federal Aviation Administration (FAA). Currently, the FAA has capped production at 38 jets per month due to ongoing investigations.

In 2024, Boeing delivered 265 737s, averaging 22 monthly deliveries, primarily from inventory. Aerospace consultancy AirInsight Group estimates an average production of 16 737 Max jets monthly in 2024. Boeing's chief financial officer has indicated that the pace of 737 deliveries is expected to increase significantly in the coming months.

For more details, you can read the full article here.

What is the FY2017 return on assets (ROA) for Coca Cola? ROA is defined as: FY2017 net income / (average total assets between FY2016 and FY2017). Round your answer to two decimal places. Give a response to the question by relying on the details shown in the balance sheet and the P&L statement.0.01 To calculate the Return on Assets (ROA) for Coca-Cola for FY2017, we need the following information:

Net Income for FY2017: This is found in the income statement.
Average Total Assets for FY2016 and FY2017: This is calculated using the total assets from the balance sheets for both years.
Step 1: Extracting the Required Values

Net Income for FY2017:

From the income statement, the net income for FY2017 is $1,248,000,000.
Total Assets:

Total Assets for FY2016: $87,270,000,000
Total Assets for FY2017: $87,896,000,000
Step 2: Calculating Average Total Assets

Average Total Assets
=
Total Assets FY2016
+
Total Assets FY2017
2
Average Total Assets= 
2
Total Assets FY2016+Total Assets FY2017
         
 
Average Total Assets
=
87
,
270
,
000
,
000
+
87
,
896
,
000
,
000
2
=
87
,
583
,
000
,
000
Average Total Assets= 
2
87,270,000,000+87,896,000,000
         
 =87,583,000,000
Step 3: Calculating ROA

ROA
=
Net Income
Average Total Assets
=
1
,
248
,
000
,
000
87
,
583
,
000
,
000
ROA= 
Average Total Assets
Net Income
         
 = 
87,583,000,000
1,248,000,000
         
 
ROA
≈
0.01425
 or 
1.43
%
ROA≈0.01425 or 1.43%
Final Answer

The FY2017 Return on Assets (ROA) for Coca-Cola is approximately 1.43%.

What is Coca Cola's FY2021 COGS % margin? Calculate what was asked by utilizing the line items clearly shown in the income statement.39.7% To calculate Coca-Cola's FY2021 Cost of Goods Sold (COGS) percentage margin, we can use the following formula:

COGS % Margin
=
(
Cost of Goods Sold
Total Revenue
)
×
100
COGS % Margin=( 
Total Revenue
Cost of Goods Sold
         
 )×100
From the income statement for FY2021:

Cost of Goods Sold (COGS) = $15,357,000,000
Total Revenue = $38,655,000,000
Now, substituting the values into the formula:

COGS % Margin
=
(
15
,
357
,
000
,
000
38
,
655
,
000
,
000
)
×
100
COGS % Margin=( 
38,655,000,000
15,357,000,000
         
 )×100
Calculating this gives:

COGS % Margin
≈
39.7
%
COGS % Margin≈39.7%
Therefore, Coca-Cola's FY2021 COGS percentage margin is approximately 39.7%.

What is Coca Cola's FY2022 dividend payout ratio (using total cash dividends paid and net income attributable to shareholders)? Round answer to two decimal places. Answer the question asked by assuming you only have access to information clearly displayed in the cash flow statement and the income statement.0.8 To calculate Coca-Cola's FY2022 dividend payout ratio, we need to use the following formula:

Dividend Payout Ratio
=
Total Cash Dividends Paid
Net Income Attributable to Shareholders
Dividend Payout Ratio= 
Net Income Attributable to Shareholders
Total Cash Dividends Paid
         
 
From the data retrieved:

Total Cash Dividends Paid (FY2022): $7,616,000,000
Net Income Attributable to Shareholders (FY2022): $9,542,000,000
Now, we can calculate the dividend payout ratio:

Dividend Payout Ratio
=
7
,
616
,
000
,
000
9
,
542
,
000
,
000
≈
0.797
Dividend Payout Ratio= 
9,542,000,000
7,616,000,000
         
 ≈0.797
Rounding to two decimal places, the dividend payout ratio is:

Dividend Payout Ratio
≈
0.80
Dividend Payout Ratio≈0.80
Thus, Coca-Cola's FY2022 dividend payout ratio is 0.80.

Taking into account the information outlined in the income statement, what is the FY2019 - FY2021 3 year average unadjusted operating income % margin for Corning? Answer in units of percents and round to one decimal place.10.3% To calculate the 3-year average unadjusted operating income % margin for Corning (ticker: GLW) from FY2019 to FY2021, we will use the following formula:

\text{Operating Income % Margin} = \left( \frac{\text{Operating Income}}{\text{Total Revenue}} \right) \times 100
Now, let's extract the operating income and total revenue for each fiscal year:

FY2019:

Operating Income: $1,306,000,000
Total Revenue: $11,503,000,000
Margin = 
1
,
306
,
000
,
000
11
,
503
,
000
,
000
×
100
≈
11.4
%
11,503,000,000
1,306,000,000
         
 ×100≈11.4%
FY2020:

Operating Income: $509,000,000
Total Revenue: $11,303,000,000
Margin = 
509
,
000
,
000
11
,
303
,
000
,
000
×
100
≈
4.5
%
11,303,000,000
509,000,000
         
 ×100≈4.5%
FY2021:

Operating Income: $2,112,000,000
Total Revenue: $14,082,000,000
Margin = 
2
,
112
,
000
,
000
14
,
082
,
000
,
000
×
100
≈
15.0
%
14,082,000,000
2,112,000,000
         
 ×100≈15.0%
Now, let's calculate the average margin over these three years:

Average Margin
=
11.4
+
4.5
+
15.0
3
≈
10.3
%
Average Margin= 
3
11.4+4.5+15.0
         
 ≈10.3%
Thus, the FY2019 - FY2021 3-year average unadjusted operating income % margin for Corning is approximately 10.3%.

How much has the effective tax rate of Corning changed between FY2021 and FY2022?The effective tax rate of Corning has changed from 20% in FY2021 to 23% in FY 2022.To calculate the change in the effective tax rate of Corning between FY2021 and FY2022, we need to find the income tax expense and income before tax for both years.

FY2021:

Income Tax Expense: $491,000,000
Income Before Tax: $2,397,000,000
Effective Tax Rate (FY2021) = (Income Tax Expense / Income Before Tax) * 100
= ($491,000,000 / $2,397,000,000) * 100
= 20.5%

FY2022:

Income Tax Expense: $411,000,000
Income Before Tax: $1,727,000,000
Effective Tax Rate (FY2022) = (Income Tax Expense / Income Before Tax) * 100
= ($411,000,000 / $1,727,000,000) * 100
= 23.8%

Change in Effective Tax Rate:

Change = Effective Tax Rate (FY2022) - Effective Tax Rate (FY2021)
= 23.8% - 20.5%
= 3.3%

Thus, the effective tax rate of Corning increased by 3.3 percentage points from FY2021 to FY2022.

Using only the information within the balance sheet, how much total assets did Costco have at the end of FY2021? Answer in USD millions.$59268.00 At the end of FY2021, Costco had total assets amounting to $59,268 million (or $59.27 billion).

What is the FY2018 fixed asset turnover ratio for CVS Health? Fixed asset turnover ratio is defined as: FY2018 revenue / (average PP&E between FY2017 and FY2018). Round your answer to two decimal places. Calculate what was asked by utilizing the line items clearly shown in the P&L statement and the balance sheet.17.98 To calculate the Fixed Asset Turnover Ratio for CVS Health for FY2018, we need the following information:

FY2018 Revenue: This is found in the income statement.
Average Property, Plant, and Equipment (PP&E): This is calculated using the PP&E values from the balance sheets for FY2017 and FY2018.
Step 1: Extracting the Required Values

FY2018 Revenue: From the income statement, the total revenue for FY2018 is $194,579,000,000.
PP&E for FY2018: From the balance sheet, the PP&E for FY2018 is $11,349,000,000.
PP&E for FY2017: From the balance sheet, the PP&E for FY2017 is $10,292,000,000.
Step 2: Calculating Average PP&E

\text{Average PP&E} = \frac{\text{PP&E}_{2017} + \text{PP&E}_{2018}}{2} = \frac{10,292,000,000 + 11,349,000,000}{2} = \frac{21,641,000,000}{2} = 10,820,500,000
Step 3: Calculating Fixed Asset Turnover Ratio

\text{Fixed Asset Turnover Ratio} = \frac{\text{Revenue}}{\text{Average PP&E}} = \frac{194,579,000,000}{10,820,500,000} \approx 17.97
Final Result

The Fixed Asset Turnover Ratio for CVS Health for FY2018 is approximately 17.97.

Is CVS Health a capital-intensive business based on FY2022 data?Yes, CVS Health requires an extensive asset base to operate, which is evident from its ROA of only 1.82% in 2022 and 3.39% in 2021, though it should be noted that a significant portion of this asset base is goodwill, and CVS's fixed assets/total assets ratio is on the lower side of 5.6%.To determine if CVS Health is a capital-intensive business based on FY2022 data, we can analyze the following key financial metrics:

Capital Expenditures (CapEx): This represents the amount spent on acquiring or maintaining fixed assets, which is a key indicator of capital intensity.
Total Assets: This gives an idea of the scale of the company's operations and the amount of capital tied up in assets.
Depreciation and Amortization: This reflects the wear and tear on fixed assets and can indicate how much capital is required to maintain operations.
FY2022 Financial Data for CVS Health:

Capital Expenditures: $2,727,000,000
Total Assets: $228,275,000,000
Depreciation and Amortization: $2,424,000,000
Analysis:

Capital Expenditures: The CapEx of approximately $2.73 billion indicates a significant investment in maintaining and expanding physical assets.
Total Assets: With total assets of approximately $228.28 billion, CVS Health has a large asset base, which is typical for capital-intensive businesses.
Depreciation: The depreciation expense of approximately $2.42 billion suggests that a substantial portion of the company's assets are fixed and subject to wear and tear.
Conclusion:

Based on the above data, CVS Health can be considered a capital-intensive business. The significant capital expenditures relative to its total assets and the depreciation expense indicate that a large amount of capital is required to maintain its operations and support its business model.

Has CVS Health reported any materially important ongoing legal battles from 2022, 2021 and 2020?Yes, CVS Health has been involved in multiple ongoing legal battles. Some notable legal dispute areas for CVS are: (1) usual and customary pricing litigation: where it's claimed that CVSâ��s retail pharmacies overcharged for prescription drugs; (2) PBM litigation and investigations: where it's claimed that that rebate agreements between the drug manufacturers and PBMs caused inflated prices for certain drug products; and (3) controlled substances litigation: legal matters around opioids for which CVS has agreed to pay up to $4.3 billion to claimants in remediation and $625 million to attorneys and feesCVS Health has faced several significant legal battles over the years, particularly related to the opioid crisis and corporate governance issues. Here's a summary of the ongoing legal matters from 2020 to 2022:

2022

In 2022, CVS Health was involved in legal proceedings primarily concerning accusations of contributing to the U.S. opioid epidemic. The U.S. Justice Department accused CVS of filling illegal opioid prescriptions, alleging that the pharmacy chain played a role in a nationwide epidemic of opioid addiction. This lawsuit was similar to actions taken against other pharmacy chains, such as Walgreens, which had agreed to pay substantial settlements related to their involvement in the opioid crisis.

2021

In 2021, CVS Health was under investigation initiated by former Louisiana Attorney General Charles C. Foti. This investigation focused on the company's officers and directors, scrutinizing CVS Health's corporate governance and leadership practices. The investigation highlighted concerns regarding the company's management and operational decisions.

2020

In 2020, CVS Health faced a similar investigation led by former Louisiana Attorney General Charles C. Foti, represented by the law firm Kahn Swick & Foti, LLC. This investigation also centered on the company's officers and directors, examining potential corporate governance issues and ongoing scrutiny of CVS's leadership and corporate practices.

These legal challenges reflect CVS Health's ongoing struggles with regulatory scrutiny and the broader implications of the opioid crisis in the United States.

Has CVS Health paid dividends to common shareholders in Q2 of FY2022?Yes, CVS paid a $ 0.55 dividend per share every quarter in FY2022 Yes, CVS Health paid dividends to common shareholders in Q2 of FY2022. Here are the details:

Ex-Dividend Date: July 21, 2022
Declaration Date: July 6, 2022
Record Date: July 22, 2022
Payment Date: August 1, 2022
Dividend Amount: $0.55 per share

Does Foot Locker's new CEO have previous CEO experience in a similar company to Footlocker?Yes. She was previous CEO of Ulta Beauty which means she had to manage a large retail company that has brick and mortar + online business. So yes she was a CEO in a similar company to Foot Locker before this.Foot Locker's new CEO, Sonia Syngal, has extensive experience in multi-banner, international retail operations. She previously served as the President and CEO of Gap, Inc., overseeing brands such as Old Navy, Gap, Banana Republic, and Athleta. Her background includes managing a vast network of approximately 2,500 retail stores across 26 countries, which aligns well with Foot Locker's operations.

Syngal's experience in the retail sector, particularly with brands that cater to similar markets, positions her as a strong leader for Foot Locker. Her proficiency in sneaker culture and retail leadership further enhances her suitability for the role.By drawing conclusions from the information stated only in the statement of financial position, what is General Mills's FY2020 working capital ratio? Define working capital ratio as total current assets divided by total current liabilities. Round your answer to two decimal places.0.68 To calculate General Mills's FY2020 working capital ratio, we will use the following formula:

Working Capital Ratio
=
Total Current Assets
Total Current Liabilities
Working Capital Ratio= 
Total Current Liabilities
Total Current Assets
         
 
From the financial data for FY2020:

Total Current Assets = $5,121,300,000
Total Current Liabilities = $7,491,500,000
Now, we can calculate the working capital ratio:

Working Capital Ratio
=
5
,
121
,
300
,
000
7
,
491
,
500
,
000
≈
0.68
Working Capital Ratio= 
7,491,500,000
5,121,300,000
         
 ≈0.68
Thus, General Mills's FY2020 working capital ratio is approximately 0.68 (rounded to two decimal places).

According to the information provided in the statement of cash flows, what is the FY2020 free cash flow (FCF) for General Mills? FCF here is defined as: (cash from operations - capex). Answer in USD millions.$3215.00 To calculate the Free Cash Flow (FCF) for General Mills for FY2020, we use the formula:

FCF
=
Cash from Operations
−
Capital Expenditures (CapEx)
FCF=Cash from Operations−Capital Expenditures (CapEx)

From the cash flow statement for FY2020:

Cash from Operations: $3,676 million
Capital Expenditures (CapEx): $460.8 million
Now, substituting the values into the formula:

FCF
=
3676
−
460.8
=
3215.2
 million USD
FCF=3676−460.8=3215.2 million USD

Thus, the Free Cash Flow (FCF) for General Mills in FY2020 is approximately $3,215 million USD.

We want to calculate a financial metric. Please help us compute it by basing your answers off of the cash flow statement and the income statement. Here's the question: what is the FY2022 retention ratio (using total cash dividends paid and net income attributable to shareholders) for General Mills? Round answer to two decimal places.0.54 To calculate the FY2022 retention ratio for General Mills, we need the following information:

Total Cash Dividends Paid: This is found in the cash flow statement.
Net Income Attributable to Shareholders: This is found in the income statement.
Data for FY2022:

Total Cash Dividends Paid: $1,244,500,000
Net Income Attributable to Shareholders: $2,707,300,000
Retention Ratio Formula:

The retention ratio is calculated using the formula:

Retention Ratio
=
Net Income
−
Dividends Paid
Net Income
Retention Ratio= 
Net Income
Net Income−Dividends Paid
         
 
Calculation:

Net Income - Dividends Paid:

2
,
707
,
300
,
000
−
1
,
244
,
500
,
000
=
1
,
462
,
800
,
000
2,707,300,000−1,244,500,000=1,462,800,000
Retention Ratio:

Retention Ratio
=
1
,
462
,
800
,
000
2
,
707
,
300
,
000
≈
0.541
Retention Ratio= 
2,707,300,000
1,462,800,000
         
 ≈0.541
Rounded to Two Decimal Places:

Retention Ratio
≈
0.54
Retention Ratio≈0.54
Final Answer:

The FY2022 retention ratio for General Mills is 0.54.

Are JnJ's FY2022 financials that of a high growth company?No, JnJ's FY2022 financials are not of a high growth company as sales grew by 1.3% in FY2022.To determine if Johnson & Johnson's (JNJ) FY2022 financials reflect a high-growth company, we can analyze key financial metrics from their income statement for that fiscal year:

FY2022 Financial Highlights:

Total Revenue: $79.43 billion
Gross Profit: $55.39 billion
Operating Income: $29.47 billion
Net Income: $17.94 billion
Operating Margin: Approximately 37.1% (Operating Income / Total Revenue)
Net Profit Margin: Approximately 22.6% (Net Income / Total Revenue)
Year-over-Year Comparison:

Total Revenue FY2021: $93.36 billion
Total Revenue FY2022: $79.43 billion
Revenue Growth: A decrease in revenue from FY2021 to FY2022 indicates a contraction rather than growth.
Conclusion:

Based on the financials for FY2022, Johnson & Johnson does not exhibit characteristics of a high-growth company. The decline in total revenue compared to the previous fiscal year suggests challenges in maintaining growth. High-growth companies typically show consistent revenue increases, strong profit margins, and positive year-over-year growth rates.

Did JnJ's net earnings as a percent of sales increase in Q2 of FY2023 compared to Q2 of FY2022?Yes, net earnings as a percent of sales increased from 20% in Q2 of FY2022 to 20.1% in Q2 of FY2023.To determine if Johnson & Johnson's (JNJ) net earnings as a percentage of sales increased in Q2 of FY2023 compared to Q2 of FY2022, we need to calculate the net income and total revenue for both quarters.

Q2 FY2023

Total Revenue: $25,184,000,000
Net Income: $5,144,000,000
Net Earnings as a Percentage of Sales (Q2 FY2023):

Net Earnings Percentage
=
(
Net Income
Total Revenue
)
×
100
=
(
5
,
144
,
000
,
000
25
,
184
,
000
,
000
)
×
100
≈
20.4
%
Net Earnings Percentage=( 
Total Revenue
Net Income
         
 )×100=( 
25,184,000,000
5,144,000,000
         
 )×100≈20.4%
Q2 FY2022

Total Revenue: $23,982,000,000
Net Income: $4,814,000,000
Net Earnings as a Percentage of Sales (Q2 FY2022):

Net Earnings Percentage
=
(
Net Income
Total Revenue
)
×
100
=
(
4
,
814
,
000
,
000
23
,
982
,
000
,
000
)
×
100
≈
20.1
%
Net Earnings Percentage=( 
Total Revenue
Net Income
         
 )×100=( 
23,982,000,000
4,814,000,000
         
 )×100≈20.1%
Comparison

Q2 FY2023 Net Earnings Percentage: 20.4%
Q2 FY2022 Net Earnings Percentage: 20.1%
Conclusion

Yes, Johnson & Johnson's net earnings as a percentage of sales increased in Q2 of FY2023 compared to Q2 of FY2022.

Are JPM's gross margins historically consistent (not fluctuating more than roughly 2% each year)? If gross margins are not a relevant metric for a company like this, then please state that and explain why.Since JPM is a financial institution, gross margin is not a relevant metric. To evaluate the historical consistency of JPMorgan Chase's (JPM) gross margins, we can calculate the gross margin for each year based on the provided income statement data. The gross margin is calculated as follows:

Gross Margin
=
Gross Profit
Total Revenue
×
100
Gross Margin= 
Total Revenue
Gross Profit
         
 ×100
Let's calculate the gross margins for the last 10 years:

2023:

Gross Profit: $61,612,000,000
Total Revenue: $158,104,000,000
Gross Margin: 
61
,
612
,
000
,
000
158
,
104
,
000
,
000
×
100
≈
38.9
%
158,104,000,000
61,612,000,000
         
 ×100≈38.9%
2022:

Gross Profit: $46,166,000,000
Total Revenue: $128,695,000,000
Gross Margin: 
46
,
166
,
000
,
000
128
,
695
,
000
,
000
×
100
≈
35.9
%
128,695,000,000
46,166,000,000
         
 ×100≈35.9%
2021:

Gross Profit: $59,562,000,000
Total Revenue: $121,649,000,000
Gross Margin: 
59
,
562
,
000
,
000
121
,
649
,
000
,
000
×
100
≈
49.0
%
121,649,000,000
59,562,000,000
         
 ×100≈49.0%
2020:

Gross Profit: $35,407,000,000
Total Revenue: $119,951,000,000
Gross Margin: 
35
,
407
,
000
,
000
119
,
951
,
000
,
000
×
100
≈
29.5
%
119,951,000,000
35,407,000,000
         
 ×100≈29.5%
2019:

Gross Profit: $44,545,000,000
Total Revenue: $115,720,000,000
Gross Margin: 
44
,
545
,
000
,
000
115
,
720
,
000
,
000
×
100
≈
38.5
%
115,720,000,000
44,545,000,000
         
 ×100≈38.5%
2018:

Gross Profit: $40,764,000,000
Total Revenue: $108,783,000,000
Gross Margin: 
40
,
764
,
000
,
000
108
,
783
,
000
,
000
×
100
≈
37.5
%
108,783,000,000
40,764,000,000
         
 ×100≈37.5%
2017:

Gross Profit: $35,900,000,000
Total Revenue: $100,705,000,000
Gross Margin: 
35
,
900
,
000
,
000
100
,
705
,
000
,
000
×
100
≈
35.6
%
100,705,000,000
35,900,000,000
         
 ×100≈35.6%
2016:

Gross Profit: $34,536,000,000
Total Revenue: $96,569,000,000
Gross Margin: 
34
,
536
,
000
,
000
96
,
569
,
000
,
000
×
100
≈
35.8
%
96,569,000,000
34,536,000,000
         
 ×100≈35.8%
2015:

Gross Profit: $30,702,000,000
Total Revenue: $93,543,000,000
Gross Margin: 
30
,
702
,
000
,
000
93
,
543
,
000
,
000
×
100
≈
32.8
%
93,543,000,000
30,702,000,000
         
 ×100≈32.8%
2014:

Gross Profit: $29,792,000,000
Total Revenue: $95,112,000,000
Gross Margin: 
29
,
792
,
000
,
000
95
,
112
,
000
,
000
×
100
≈
31.3
%
95,112,000,000
29,792,000,000
         
 ×100≈31.3%
Summary of Gross Margins:

2023: 38.9%
2022: 35.9%
2021: 49.0%
2020: 29.5%
2019: 38.5%
2018: 37.5%
2017: 35.6%
2016: 35.8%
2015: 32.8%
2014: 31.3%
Analysis:

The gross margins for JPMorgan Chase have fluctuated significantly over the years, with a range from approximately 29.5% to 49.0%. This indicates that the gross margins are not historically consistent, as they have fluctuated more than the 2% threshold you specified.

Relevance of Gross Margins for JPM:

Gross margins may not be the most relevant metric for a company like JPMorgan Chase, which is primarily a financial services firm. In the banking sector, metrics such as net interest margin, return on equity (ROE), and return on assets (ROA) are often more relevant. Gross margins are more commonly used in industries that sell physical goods, where the cost of goods sold (COGS) is a significant factor. In banking, the focus is more on interest income, fees, and overall profitability rather than gross profit from sales.

In 2022 Q2, which of JPM's business segments had the highest net income?Corporate & Investment Bank. Its net income was $3725 million. In Q2 of 2022, JPMorgan Chase's net income from its business segments was as follows:

Consumer & Community Banking: $4.4 billion
Corporate & Investment Bank: $3.7 billion
Commercial Banking: $1.0 billion
Asset & Wealth Management: $1.0 billion
The segment with the highest net income in Q2 2022 was Consumer & Community Banking, with a net income of $4.4 billion.

Looking at VaR, did the risk that JPM faced in the second fiscal quarter of 2023 decrease compared to the same period in the prior year?Yes. It decreased. To determine whether the risk that JPMorgan Chase (JPM) faced in the second fiscal quarter of 2023 decreased compared to the same period in the prior year (2022), we can analyze the Value at Risk (VaR) figures for both periods. However, the specific VaR figures for these quarters are not directly available in the financial statements retrieved.

Instead, we can look at the overall financial performance indicators such as net income, total assets, and total liabilities for both quarters to infer the risk levels.

Key Financial Metrics Comparison

Q2 2023 (June 30, 2023)

Net Income: $14,472,000,000
Total Assets: $3,868,240,000,000
Total Liabilities: $3,555,724,000,000
Q2 2022 (June 30, 2022)

Net Income: $8,649,000,000
Total Assets: $3,841,314,000,000
Total Liabilities: $3,555,724,000,000
Analysis

Net Income: There was a significant increase in net income from Q2 2022 to Q2 2023, indicating improved profitability and potentially lower risk.
Total Assets: The total assets increased slightly, which may suggest a stable growth in the bank's operations.
Total Liabilities: The total liabilities remained relatively stable, indicating that the bank managed its debt levels effectively.
Conclusion

Based on the increase in net income and the stability in total assets and liabilities, it can be inferred that the risk faced by JPMorgan Chase in the second fiscal quarter of 2023 likely decreased compared to the same period in the prior year. However, for a precise assessment of VaR, specific VaR figures would be needed, which are typically found in risk management reports rather than standard financial statements.

What is Kraft Heinz's FY2019 inventory turnover ratio? Inventory turnover ratio is defined as: (FY2019 COGS) / (average inventory between FY2018 and FY2019). Round your answer to two decimal places. Please base your judgments on the information provided primarily in the balance sheet and the P&L statement.6.25 To calculate Kraft Heinz's FY2019 inventory turnover ratio, we need the following information:

Cost of Goods Sold (COGS) for FY2019: This is found in the income statement.
Average Inventory between FY2018 and FY2019: This is calculated using the inventory values from the balance sheet for FY2018 and FY2019.
Step 1: Gather the required data

COGS for FY2019:

From the income statement, the COGS for FY2019 is $16,830,000,000.
Inventory for FY2018 and FY2019:

Inventory for FY2018: $2,667,000,000
Inventory for FY2019: $2,721,000,000
Step 2: Calculate Average Inventory

Average Inventory
=
Inventory
2018
+
Inventory
2019
2
=
2
,
667
,
000
,
000
+
2
,
721
,
000
,
000
2
=
5
,
388
,
000
,
000
2
=
2
,
694
,
000
,
000
Average Inventory= 
2
Inventory 
2018
         
 +Inventory 
2019
         
 
         
 = 
2
2,667,000,000+2,721,000,000
         
 = 
2
5,388,000,000
         
 =2,694,000,000
Step 3: Calculate Inventory Turnover Ratio

Inventory Turnover Ratio
=
COGS
Average Inventory
=
16
,
830
,
000
,
000
2
,
694
,
000
,
000
≈
6.25
Inventory Turnover Ratio= 
Average Inventory
COGS
         
 = 
2,694,000,000
16,830,000,000
         
 ≈6.25
Final Result

The inventory turnover ratio for Kraft Heinz in FY2019 is approximately 6.25.

We need to calculate a reasonable approximation (or exact number if possible) of a financial metric. Basing your judgment by information plainly provided in the balance sheet and the P&L statement, what is Lockheed Martin's FY2020 asset turnover ratio? Asset turnover ratio is defined as: FY2020 revenue / (average total assets between FY2019 and FY2020). Round your answer to two decimal places.1.33 To calculate Lockheed Martin's FY2020 asset turnover ratio, we need the following information:

FY2020 Revenue: This is found in the income statement.
Average Total Assets: This is calculated using the total assets from FY2019 and FY2020.
Step 1: Extracting the Required Data

FY2020 Revenue: $65,398,000,000 (from the income statement)
Total Assets for FY2020: $50,710,000,000 (from the balance sheet)
Total Assets for FY2019: $47,528,000,000 (from the balance sheet)
Step 2: Calculating Average Total Assets

Average Total Assets
=
Total Assets FY2020
+
Total Assets FY2019
2
Average Total Assets= 
2
Total Assets FY2020+Total Assets FY2019
         
 
Average Total Assets
=
50
,
710
,
000
,
000
+
47
,
528
,
000
,
000
2
=
98
,
238
,
000
,
000
2
=
49
,
119
,
000
,
000
Average Total Assets= 
2
50,710,000,000+47,528,000,000
         
 = 
2
98,238,000,000
         
 =49,119,000,000
Step 3: Calculating Asset Turnover Ratio

Asset Turnover Ratio
=
FY2020 Revenue
Average Total Assets
Asset Turnover Ratio= 
Average Total Assets
FY2020 Revenue
         
 
Asset Turnover Ratio
=
65
,
398
,
000
,
000
49
,
119
,
000
,
000
≈
1.33
Asset Turnover Ratio= 
49,119,000,000
65,398,000,000
         
 ≈1.33
Final Result

The asset turnover ratio for Lockheed Martin in FY2020 is approximately 1.33 when rounded to two decimal places.



Question Answer ShmoneyAI (ChatGPT-4o-mini) Answer Is Correct/Wrong

What is Lockheed Martin's FY2021 net working capital? Define net working capital as total current assets less total current liabilities. Answer in USD millions. Respond to the question by assuming the perspective of an investment analyst who can only use the details shown within the balance sheet.$5818.00 To calculate Lockheed Martin's FY2021 net working capital, we will use the formula:

Net Working Capital = Total Current Assets - Total Current Liabilities

From the balance sheet data for FY2021:

Total Current Assets: $19,815 million
Total Current Liabilities: $13,997 million
Now, let's perform the calculation:

Net Working Capital
=
19
,
815
−
13
,
997
=
5
,
818
 million USD
Net Working Capital=19,815−13,997=5,818 million USD
Therefore, Lockheed Martin's FY2021 net working capital is $5,818 million USD.

Basing your judgments off of the balance sheet, what is the year end FY2018 amount of accounts payable for MGM Resorts? Answer in USD millions.$303.00 The year-end FY2018 amount of accounts payable for MGM Resorts is $302.6 million.

Has MGM Resorts paid dividends to common shareholders in FY2022?Yes. MGM maintained 0.01$ per share annual dividend through out FY 2022. Yes, MGM Resorts paid dividends to common shareholders in FY2022. Here are the details of the dividends paid:

March 9, 2022: $0.0025
June 9, 2022: $0.0025
September 8, 2022: $0.0025
December 8, 2022: $0.0025
Each dividend payment was $0.0025 per share.

What is the FY2016 COGS for Microsoft? Please state answer in USD millions. Provide a response to the question by primarily using the statement of income.$32780.00 For the fiscal year 2016, Microsoft's Cost of Goods Sold (COGS) was 32,780 million USD.

What is Netflix's year end FY2017 total current liabilities (in USD millions)? Base your judgments on the information provided primarily in the balance sheet.$5466.00 Netflix's total current liabilities at the end of fiscal year 2017 (December 31, 2017) amounted to $5,466.31 million (or approximately $5.47 billion).

We need to calculate a reasonable approximation (or exact number if possible) of a financial metric. Basing your judgment by information plainly provided in the statement of income, what is Nike's three year average of cost of goods sold as a % of revenue from FY2016 to FY2018? Answer in units of percents and round to one decimal place.55.1% To calculate Nike's three-year average of cost of goods sold (COGS) as a percentage of revenue from FY2016 to FY2018, we will use the following data from the income statements:

FY2016:

Total Revenue: $32,278,000,000
Cost of Goods Sold: $17,405,000,000
FY2017:

Total Revenue: $34,467,000,000
Cost of Goods Sold: $19,038,000,000
FY2018:

Total Revenue: $36,496,000,000
Cost of Goods Sold: $20,441,000,000
Now, we can calculate the COGS as a percentage of revenue for each year:

FY2016 COGS % = (Cost of Goods Sold / Total Revenue) * 100
FY2017 COGS % = (Cost of Goods Sold / Total Revenue) * 100
FY2018 COGS % = (Cost of Goods Sold / Total Revenue) * 100
Finally, we will average these percentages to get the three-year average.

Let's calculate it:

FY2016 COGS % = (17,405,000,000 / 32,278,000,000) * 100 = 54.0%
FY2017 COGS % = (19,038,000,000 / 34,467,000,000) * 100 = 55.2%
FY2018 COGS % = (20,441,000,000 / 36,496,000,000) * 100 = 56.1%
Now, we can calculate the average:

\text{Average COGS %} = \frac{54.0 + 55.2 + 56.1}{3} = 55.1\%
Thus, Nike's three-year average of cost of goods sold as a percentage of revenue from FY2016 to FY2018 is 55.1%.

According to the details clearly outlined within the balance sheet, how much total current assets did Nike have at the end of FY2019? Answer in USD millions.$16525.00 At the end of FY2019, Nike had total current assets amounting to $16,525 million (or $16.525 billion).

When primarily referencing the income statement and the statement of financial position, what is the FY2021 inventory turnover ratio for Nike? Inventory turnover ratio is defined as: (FY2021 COGS) / (average inventory between FY2020 and FY2021). Round your answer to two decimal places.3.46 To calculate the inventory turnover ratio for Nike for FY2021, we need the Cost of Goods Sold (COGS) for FY2021 and the average inventory between FY2020 and FY2021.

Step 1: Gather Data

COGS for FY2021:

COGS = $24,576,000,000 (from the income statement for FY2021)
Inventory for FY2020 and FY2021:

Inventory for FY2020 = $7,367,000,000 (from the balance sheet for FY2020)
Inventory for FY2021 = $6,854,000,000 (from the balance sheet for FY2021)
Step 2: Calculate Average Inventory

Average Inventory
=
Inventory
2020
+
Inventory
2021
2
=
7
,
367
,
000
,
000
+
6
,
854
,
000
,
000
2
=
14
,
221
,
000
,
000
2
=
7
,
110
,
500
,
000
Average Inventory= 
2
Inventory 
2020
         
 +Inventory 
2021
         
 
         
 = 
2
7,367,000,000+6,854,000,000
         
 = 
2
14,221,000,000
         
 =7,110,500,000
Step 3: Calculate Inventory Turnover Ratio

Inventory Turnover Ratio
=
COGS
Average Inventory
=
24
,
576
,
000
,
000
7
,
110
,
500
,
000
≈
3.45
Inventory Turnover Ratio= 
Average Inventory
COGS
         
 = 
7,110,500,000
24,576,000,000
         
 ≈3.45
Final Result

The FY2021 inventory turnover ratio for Nike is approximately 3.45 (rounded to two decimal places).

Among operations, investing, and financing activities, which brought in the most (or lost the least) cash flow for Nike in FY2023?Among the three, cash flow from operations was the highest for Nike in FY2023.n FY2023, Nike's cash flow from different activities was as follows:

Operating Activities: $5,841,000,000
Investing Activities: $564,000,000
Financing Activities: -$7,447,000,000
Summary:

Operating Activities brought in the most cash flow at $5.84 billion.
Investing Activities generated a positive cash flow of $564 million.
Financing Activities resulted in a cash outflow of $7.45 billion.
Thus, the operating activities were the most significant contributor to cash flow for Nike in FY2023.

What is the FY2021 capital expenditure amount (in USD billions) for PepsiCo? Respond to the question by assuming the perspective of an investment analyst who can only use the details shown within the statement of cash flows.$4.60 For the fiscal year 2021, PepsiCo reported a capital expenditure amount of $4.625 billion.

What are the geographies that Pepsico primarily operates in as of FY2022?As of FY2022, Pepsico primarily operates in the following geographies: North America, Latin America, Europe, Africa, Middle East, South Asia, Asia Pacific, Australia, New Zealand and China.As of FY2022, PepsiCo primarily operates in the following geographies:

United States
Mexico
Canada
Russia
China
United Kingdom
Brazil
South Africa
All other countries
These regions contribute significantly to PepsiCo's revenue generation and operational presence.

Has Pepsico reported any materially important ongoing legal battles from FY2022 and FY2021?No, Pepsico is not involved in material legal battles. PepsiCo has faced significant legal challenges in both FY2022 and FY2021 related to allegations of illegal pricing practices.

FY2022

In FY2022, PepsiCo was accused of engaging in illegal pricing deals with a large big-box retailer, which allegedly resulted in higher prices for consumers and disadvantaged smaller retailers. The Federal Trade Commission (FTC) filed a lawsuit against PepsiCo, claiming that the company rigged competition by offering unfair deals to one major retailer while not providing the same terms to others. This practice was said to put various retailers, from large grocery chains to independent convenience stores, at a disadvantage. PepsiCo described the lawsuit as "wrong on the facts and the law."

For more details, you can read the full article here.

FY2021

Similarly, in FY2021, PepsiCo faced a lawsuit from the FTC for the same reasons, alleging that the company rigged competition by offering preferential pricing to a major retailer, which harmed smaller competitors and allowed PepsiCo to dominate the market. The FTC's actions were part of a broader effort to enforce laws against unfair pricing practices that disadvantage smaller retailers.

The details of this case are also covered in the same article linked above.

In summary, both fiscal years saw PepsiCo embroiled in legal battles concerning pricing practices that allegedly favored larger retailers at the expense of smaller competitors.

What is the FY2022 unadjusted EBITDA less capex for PepsiCo? Define unadjusted EBITDA as unadjusted operating income + depreciation and amortization [from cash flow statement]. Answer in USD millions. Respond to the question by assuming the perspective of an investment analyst who can only use the details shown within the statement of cash flows and the income statement.$9068.00 To calculate the FY2022 unadjusted EBITDA less capital expenditures (capex) for PepsiCo, we will follow these steps:

Calculate Unadjusted EBITDA:

Unadjusted EBITDA = Unadjusted Operating Income + Depreciation and Amortization
From the income statement for FY2022:
Operating Income = $11,512 million
From the cash flow statement for FY2022:
Depreciation and Amortization = $2,763 million
Therefore,

Unadjusted EBITDA
=
11
,
512
+
2
,
763
=
14
,
275
 million USD
Unadjusted EBITDA=11,512+2,763=14,275 million USD
Subtract Capital Expenditures:

Capital Expenditures (Capex) for FY2022 = $5,207 million
Therefore,

Unadjusted EBITDA less Capex
=
14
,
275
−
5
,
207
=
9
,
068
 million USD
Unadjusted EBITDA less Capex=14,275−5,207=9,068 million USD
Thus, the FY2022 unadjusted EBITDA less capex for PepsiCo is $9,068 million USD.

As of FY2023Q1, why did Pepsico raise full year guidance for FY2023?Pepsico experienced a strong start to FY2023. PepsiCo raised its full-year guidance for FY2023Q1 due to strong performance during peak trading periods. This positive outlook has led to an upward revision of its profit expectations. The company's optimistic assessment reflects the favorable conditions and results it experienced in recent months.

As of FY2023Q1, by how many percentage points did Pepsico raise full year guidance in respect of core constant currency EPS growth?Pepsico raised full year guidance in respect of core constant currency EPS growth by 1 percentage point.PepsiCo did not raise its FY2023Q1 core constant currency EPS growth guidance. The information available focuses on the promotion of Rachel Ferdinando to CEO of PepsiCo US Foods, with no mention of changes to earnings guidance for the first quarter of 2023.

Did Pfizer grow its PPNE between FY20 and FY21? Yes, change in PPNE was positive year over year To determine if Pfizer (PFE) grew its PPNE (presumably referring to "Net Income from Continuing Operations") between FY20 and FY21, we can look at the reported values for those fiscal years:

FY20 (Fiscal Year Ending 2020-12-31):

Net Income from Continuing Operations: $6,630,000,000
FY21 (Fiscal Year Ending 2021-12-31):

Net Income from Continuing Operations: $22,414,000,000
Comparison:

Growth from FY20 to FY21:
FY21 Net Income: $22,414,000,000
FY20 Net Income: $6,630,000,000
Increase: $22,414,000,000 - $6,630,000,000 = $15,784,000,000
Conclusion:

Yes, Pfizer did grow its PPNE (Net Income from Continuing Operations) significantly between FY20 and FY21.

Which debt securities are registered to trade on a national securities exchange under Ulta Beauty's name as of FY2023?There are none As of FY2023, Ulta Beauty Inc. (ticker: ULTA) does not have any registered debt securities trading on a national securities exchange. The company primarily operates with common stock and has no long-term debt reported.

If you need more specific information or details about their financials, feel free to ask!What are major acquisitions that Ulta Beauty has done in FY2023 and FY2022?Ulta Beauty did not make any acquisitions in FY2023 and FY2022. n fiscal years 2022 and 2023, Ulta Beauty did not make any significant acquisitions.

FY2023

There were no major acquisitions reported by Ulta Beauty. Although brands like Kosas and Rare Beauty were exploring sales, no significant deals materialized. The sun care brand Vacation, which achieved around $40 million in retail sales, may be a potential target for acquirers in the future.
FY2022

Ulta Beauty also did not announce any major acquisitions. The company experienced a net sales growth of 18.3%, surpassing $10 billion, driven by price increases, new brands, and product innovation. This growth indicates a strategic focus on expanding product offerings and market presence without significant acquisitions.
For more detailed insights, you can refer to the articles discussing these periods:

Beauty’s Top M&A Targets for 2025
Ulta Beauty's Financial Performance

What drove the increase in Ulta Beauty's merchandise inventories balance at end of FY2023?Increase in Merchandise inventories balance was driven by the opening of 47 new stores. The answer here assumes FY2023 refers to the 12 months ended on January 28, 2023 (although the company refers to this period as its fiscal 2022.The increase in Ulta Beauty's merchandise inventories balance at the end of FY2023 can be attributed to several factors:

Inventory Growth: The inventory balance increased from approximately $1.56 billion at the end of FY2022 to about $1.70 billion at the end of FY2023. This represents a significant increase in merchandise inventories, indicating that the company may have been stocking up on products in anticipation of higher demand.

Sales Strategy: Ulta Beauty may have adopted a strategy to enhance its product offerings and ensure that it has sufficient stock to meet customer demand, especially during peak shopping seasons or promotional events.

Supply Chain Management: The company might have improved its supply chain processes, allowing for better inventory management and the ability to maintain higher stock levels without negatively impacting cash flow.

Market Trends: The beauty industry has seen a resurgence in demand post-pandemic, leading retailers like Ulta to increase their inventory levels to capitalize on this trend.

New Product Launches: If Ulta Beauty introduced new product lines or expanded existing ones, this could have contributed to the increase in inventory as they prepared for the launch and ensured availability.

Overall, the increase in merchandise inventories reflects Ulta Beauty's proactive approach to managing its stock in response to market conditions and consumer demand.

Did Ulta Beauty's wages expense as a percent of net sales increase or decrease in FY2023?Wages expense as a percent of net sales increased in FY2023. The answer here assumes FY2023 refers to the 12 months ended on January 28, 2023 (although the company refers to this period as its fiscal 2022.To determine whether Ulta Beauty's wages expense as a percent of net sales increased or decreased in FY2023, we can analyze the selling, general, and administrative expenses (SG&A) as a percentage of total revenue for the fiscal years 2023 and 2024.

Key Figures:

FY2023 (ending January 28, 2023):

Total Revenue: $10,208,580,000
Selling, General and Administrative Expenses: $2,395,299,000
FY2024 (ending February 3, 2024):

Total Revenue: $11,207,303,000
Selling, General and Administrative Expenses: $2,694,561,000
Calculations:

FY2023:

Wages Expense % = (SG&A / Total Revenue) * 100
Wages Expense % = ($2,395,299,000 / $10,208,580,000) * 100 ≈ 23.5%
FY2024:

Wages Expense % = (SG&A / Total Revenue) * 100
Wages Expense % = ($2,694,561,000 / $11,207,303,000) * 100 ≈ 24.1%
Conclusion:

Ulta Beauty's wages expense as a percent of net sales increased from approximately 23.5% in FY2023 to 24.1% in FY2024.

Has Verizon increased its debt on balance sheet between 2022 and the 2021 fiscal period?No. Verizon's debt decreased by $229 million. To determine if Verizon has increased its debt on the balance sheet between the fiscal years 2022 and 2021, we can compare the total liabilities, current debt, and long-term debt for those years.

Verizon's Debt Comparison:

Fiscal Year 2022 (Ending December 31, 2022):

Total Liabilities: $328,471,000,000
Current Debt: $9,963,000,000
Long-Term Debt: $150,489,000,000
Fiscal Year 2021 (Ending December 31, 2021):

Total Liabilities: $325,165,000,000
Current Debt: $7,443,000,000
Long-Term Debt: $150,868,000,000
Analysis:

Total Liabilities increased from $325.165 billion in 2021 to $328.471 billion in 2022.
Current Debt increased from $7.443 billion in 2021 to $9.963 billion in 2022.
Long-Term Debt decreased from $150.868 billion in 2021 to $150.489 billion in 2022.
Conclusion:

Verizon's total liabilities and current debt have increased from 2021 to 2022, indicating an increase in overall debt. However, the long-term debt has slightly decreased. Overall, it can be concluded that Verizon has increased its debt on the balance sheet between the fiscal periods of 2021 and 2022.

Assume that you are a public equities analyst. Answer the following question by primarily using information that is shown in the balance sheet: what is the year end FY2018 net PPNE for 3M? Answer in USD billions.$8.70 To calculate the net Property, Plant, and Equipment (PP&E) for 3M at the end of FY2018, we can use the following formula:

[ \text{Net PP&E} = \text{Property, Plant, and Equipment} - \text{Accumulated Depreciation} ]

From the balance sheet data for 3M as of December 31, 2018:

Property, Plant, and Equipment: $8,738,000,000
Accumulated Depreciation: $16,135,000,000
Now, substituting these values into the formula:

[ \text{Net PP&E} = 8,738,000,000 - 16,135,000,000 = -7,397,000,000 ]

This indicates that the net PP&E is negative, which is unusual and suggests that the accumulated depreciation exceeds the gross PP&E.

To express this in USD billions:

[ \text{Net PP&E} = -7.397 \text{ billion USD} ]

Thus, the year-end FY2018 net PP&E for 3M is approximately -7.40 billion USD.

Is 3M a capital-intensive business based on FY2022 data?No, the company is managing its CAPEX and Fixed Assets pretty efficiently, which is evident from below key metrics:
CAPEX/Revenue Ratio: 5.1%
Fixed assets/Total Assets: 20%
Return on Assets= 12.4%

To determine if 3M Company (MMM) is a capital-intensive business based on FY2022 data, we can analyze its capital expenditures in relation to its revenue and other financial metrics.

Key Financial Metrics for FY2022:

Capital Expenditures (CapEx): $1,749,000,000
Total Revenue: $32,637,999,000
Operating Cash Flow: $5,591,000,000
Net Income: $5,777,000,000
Analysis:

CapEx to Revenue Ratio:

CapEx to Revenue = Capital Expenditures / Total Revenue
CapEx to Revenue = 
1
,
749
,
000
,
000
/
1,749,000,000/32,637,999,000 ≈ 0.0537 or 5.37%
Operating Cash Flow:

The operating cash flow is positive, indicating that the company generates sufficient cash from its operations.
Net Income:

The net income is also positive, suggesting profitability.
Conclusion:

A capital-intensive business typically has a high ratio of capital expenditures to revenue, often exceeding 10%. In the case of 3M, the CapEx to Revenue ratio of approximately 5.37% indicates that while it does invest significantly in capital, it may not be classified as highly capital-intensive compared to other industries.

Therefore, 3M is moderately capital-intensive, but not to the extent that would categorize it as a highly capital-intensive business.

Does 3M have a reasonably healthy liquidity profile based on its quick ratio for Q2 of FY2023? If the quick ratio is not relevant to measure liquidity, please state that and explain why.No. The quick ratio for 3M was 0.96 by Jun'23 close, which needs a bit of an improvement to touch the 1x markTo calculate the quick ratio using the following formula:

[ \text{Quick Ratio} = \frac{\text{Current Assets} - \text{Inventory}}{\text{Current Liabilities}} ]

From the balance sheet data for Q2 of FY2023 (ending June 30, 2023):

Total Current Assets: $15,754,000,000
Inventory: $5,280,000,000
Total Current Liabilities: $10,936,000,000
Now, we can calculate the quick ratio:

Calculate the quick assets: [ \text{Quick Assets} = \text{Current Assets} - \text{Inventory} = 15,754,000,000 - 5,280,000,000 = 10,474,000,000 ]

Calculate the quick ratio: [ \text{Quick Ratio} = \frac{10,474,000,000}{10,936,000,000} \approx 0.96 ]

Interpretation of the Quick Ratio

A quick ratio of 0.96 indicates that 3M has nearly enough liquid assets to cover its current liabilities. Generally, a quick ratio of 1.0 or higher is considered healthy, as it suggests that a company can meet its short-term obligations without relying on the sale of inventory.

Conclusion

While 3M's quick ratio of 0.96 is slightly below 1.0, it is close enough to suggest that the company has a reasonably healthy liquidity profile. However, it may indicate that the company should monitor its liquidity closely, especially in times of financial stress or unexpected expenses.

What is Amcor's year end FY2020 net AR (in USD millions)? Address the question by adopting the perspective of a financial analyst who can only use the details shown within the balance sheet.$1616.00 Amcor's year-end FY2020 net accounts receivable (AR) is reported as **1,615.9million∗∗(or1,615.9million∗∗(or1.62 billion). This figure is derived from the balance sheet under the "currentNetReceivables" category for the fiscal year ending June 30, 2020.

Has AMCOR's quick ratio improved or declined between FY2023 and FY2022? If the quick ratio is not something that a financial analyst would ask about a company like this, then state that and explain why.The quick ratio has slightly improved from 0.67 times to 0.69 times between FY 2023 and FY 2022.(3.4% jump)To determine whether AMCOR's quick ratio has improved or declined between FY2023 and FY2022, we first need to calculate the quick ratio for both fiscal years. The quick ratio is calculated using the formula:

[ \text{Quick Ratio} = \frac{\text{Current Assets} - \text{Inventory} - \text{Other Current Assets}}{\text{Current Liabilities}} ]
For FY2023:

    Total Current Assets: $5,308,000,000
    Inventory: $2,083,000,000
    Other Current Assets: $531,000,000
    Total Current Liabilities: $4,476,000,000

Calculating the quick ratio for FY2023:

[ \text{Quick Ratio}_{2023} = 5,308,000,000−2,083,000,000−531,000,0004,476,000,0004,476,000,0005,308,000,000−2,083,000,000−531,000,000  = 2,694,000,0004,476,000,0004,476,000,0002,694,000,000  \approx 0.602 ]
For FY2022:

    Total Current Assets: $5,853,000,000
    Inventory: $2,439,000,000
    Other Current Assets: $704,000,000
    Total Current Liabilities: $5,103,000,000

Calculating the quick ratio for FY2022:

[ \text{Quick Ratio}_{2022} = 5,853,000,000−2,439,000,000−704,000,0005,103,000,0005,103,000,0005,853,000,000−2,439,000,000−704,000,000  = 2,710,000,0005,103,000,0005,103,000,0002,710,000,000  \approx 0.530 ]
Conclusion:

    Quick Ratio FY2023: Approximately 0.602
    Quick Ratio FY2022: Approximately 0.530

The quick ratio has improved from FY2022 to FY2023.
Explanation:

The quick ratio is a measure of a company's short-term liquidity and ability to meet its short-term obligations without relying on the sale of inventory. It is particularly relevant for companies that may have significant inventory levels, as it provides a clearer picture of liquidity by excluding inventory from current assets.

In the case of AMCOR, a company involved in packaging solutions, the quick ratio is a relevant metric for financial analysts as it helps assess the company's ability to cover its short-term liabilities with its most liquid assets.

How much was the Real change in Sales for AMCOR in FY 2023 vs FY 2022, if we exclude the impact of FX movement, passthrough costs and one-off items?The Real Growth was flat in FY 2023 vs FY 2022. To calculate the real change in sales for Amcor in FY 2023 vs FY 2022, excluding the impact of foreign exchange (FX) movements, passthrough costs, and one-off items, we can use the total revenue figures from the income statements for those fiscal years.

Here are the total revenue figures:

FY 2023 Total Revenue: $14,601,000,000
FY 2022 Total Revenue: $14,402,000,000
Now, we can calculate the real change in sales:

Real Change in Sales
=
Total Revenue FY 2023
−
Total Revenue FY 2022
Real Change in Sales=Total Revenue FY 2023−Total Revenue FY 2022
Real Change in Sales
=
14
,
601
,
000
,
000
−
14
,
402
,
000
,
000
=
199
,
000
,
000
Real Change in Sales=14,601,000,000−14,402,000,000=199,000,000
Thus, the real change in sales for Amcor in FY 2023 compared to FY 2022, excluding the impact of FX movements, passthrough costs, and one-off items, is $199 million.
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Does AMD have a reasonably healthy liquidity profile based on its quick ratio for FY22? If the quick ratio is not relevant to measure liquidity, please state that and explain why.Yes. The quick ratio is 1.57, calculated as (cash and cash equivalents+Short term investments+Accounts receivable, net+receivables from related parties)/ (current liabilities).To assess AMD's liquidity profile for FY22 using the quick ratio, we need to calculate the quick ratio using the following formula:

Quick Ratio
=
Current Assets
−
Inventory
Current Liabilities
Quick Ratio= 
Current Liabilities
Current Assets−Inventory
         
 
From AMD's balance sheet for FY22, we have the following relevant figures:

Total Current Assets: $15,019,000,000
Inventory: $3,771,000,000
Total Current Liabilities: $6,369,000,000
Now, we can calculate the quick ratio:

Calculate the liquid assets (current assets minus inventory):

Liquid Assets
=
15
,
019
,
000
,
000
−
3
,
771
,
000
,
000
=
11
,
248
,
000
,
000
Liquid Assets=15,019,000,000−3,771,000,000=11,248,000,000
Calculate the quick ratio:

Quick Ratio
=
11
,
248
,
000
,
000
6
,
369
,
000
,
000
≈
1.76
Quick Ratio= 
6,369,000,000
11,248,000,000
         
 ≈1.76
Interpretation of the Quick Ratio

A quick ratio of 1.76 indicates that AMD has $1.76 in liquid assets for every $1.00 of current liabilities. This suggests that AMD has a reasonably healthy liquidity profile, as a quick ratio above 1.0 is generally considered good, indicating that the company can cover its short-term obligations without relying on the sale of inventory.

Conclusion

Based on the quick ratio calculation for FY22, AMD appears to have a reasonably healthy liquidity profile.

From FY21 to FY22, excluding Embedded, in which AMD reporting segment did sales proportionally increase the most?Data Center To determine which AMD reporting segment saw the highest proportional increase in sales from FY21 to FY22, we need to analyze the revenue data for the relevant segments during those fiscal years.

AMD Revenue Data:

FY21 Total Revenue: $16.40 billion
FY22 Total Revenue: $23.65 billion
Revenue Breakdown by Segment:

Computing and Graphics:
FY21: $11.56 billion
FY22: $15.57 billion
Enterprise, Embedded and Semi-Custom:
FY21: $4.84 billion
FY22: $8.08 billion
Embedded (excluded from analysis):
FY21: Not specified
FY22: Not specified
Proportional Increase Calculation:

Computing and Graphics:

Increase: $15.57 billion - $11.56 billion = $4.01 billion
Proportional Increase: 
4.01
11.56
×
100
≈
34.66
%
11.56
4.01
         
 ×100≈34.66%
Enterprise, Embedded and Semi-Custom:

Increase: $8.08 billion - $4.84 billion = $3.24 billion
Proportional Increase: 
3.24
4.84
×
100
≈
67.08
%
4.84
3.24
         
 ×100≈67.08%
Conclusion:

The Enterprise, Embedded and Semi-Custom segment experienced the highest proportional increase in sales from FY21 to FY22, with an increase of approximately 67.08%.

Did AMD report customer concentration in FY22? Yes, one customer accounted for 16% of consolidated net revenue Yes, AMD reported customer concentration in FY22. The company experienced a 29% year-over-year revenue growth, driven by increased sales of data center, embedded, and game console products, despite challenges in the PC market and inventory reduction actions across the supply chain.

For more detailed information, you can refer to their third quarter 2022 financial results.What was the largest liability in American Express's Balance Sheet in 2022?Customer deposits In 2022, the largest liability on American Express's balance sheet was the long-term debt, which amounted to $42.573 billion.

How much (in USD billions) did American Water Works pay out in cash dividends for FY2020? Compute or extract the answer by primarily using the details outlined in the statement of cash flows.$0.40 In FY2020, American Water Works paid out a total of $0.389 billion in cash dividends.

Basing your judgments off of the cash flow statement and the income statement, what is American Water Works's FY2021 unadjusted operating income + depreciation and amortization from the cash flow statement (unadjusted EBITDA) in USD millions?$1832.00 To calculate American Water Works's FY2021 unadjusted EBITDA (Operating Income + Depreciation and Amortization), we can use the following data from the income statement and cash flow statement:

Operating Income (from Income Statement): $1,263 million
Depreciation and Amortization (from Cash Flow Statement): $636 million
Now, we can calculate the unadjusted EBITDA:

Unadjusted EBITDA
=
Operating Income
+
Depreciation and Amortization
Unadjusted EBITDA=Operating Income+Depreciation and Amortization
Unadjusted EBITDA
=
1
,
263
+
636
=
1
,
899
 million USD
Unadjusted EBITDA=1,263+636=1,899 million USD
Thus, American Water Works's FY2021 unadjusted EBITDA is $1,899 million USD.

We need to calculate a financial metric by using information only provided within the balance sheet. Please answer the following question: what is Boeing's year end FY2018 net property, plant, and equipment (in USD millions)?$12645.00 Boeing's year-end FY2018 net property, plant, and equipment (PP&E) is calculated as follows:

Property, Plant, and Equipment: $12,645 million
Accumulated Depreciation: $18,568 million
To find the net property, plant, and equipment, we subtract accumulated depreciation from the total property, plant, and equipment:

\text{Net PP&E} = \text{Property, Plant, and Equipment} - \text{Accumulated Depreciation} \text{Net PP&E} = 12,645 - 18,568 = -5,923 \text{ million}
Thus, Boeing's year-end FY2018 net property, plant, and equipment is -$5,923 million.

Who are the primary customers of Boeing as of FY2022?Boeing's primary customers as of FY2022 are a limited number of commercial airlines and the US government. The US government accounted for 40% of Boeing's total revenues in FY2022.As of FY2022, Boeing's primary customers included:

Emirates - Operates a significant fleet of Boeing 737 MAX jets and has ordered a total of 312 Boeing aircraft, primarily widebodies.
United Airlines - Ordered 180 MAX jets, including 40 MAX 8s, 49 MAX 9s, and 92 MAX 10s.
Southwest Airlines - A long-time customer of Boeing, with a strong commitment to the 737 MAX program.
American Airlines - Has ordered a total of 1,088 Boeing jets, with a current fleet of 457 Boeing planes.
These airlines represent some of the largest orders and commitments to Boeing's aircraft, particularly the 737 MAX series.

How does Boeing's effective tax rate in FY2022 compare to FY2021?Effective tax rate in FY2022 was 0.62%, compared to  -14.76% in FY2021. To compare Boeing's effective tax rate in FY2022 to FY2021, we can calculate the effective tax rate using the formula:

Effective Tax Rate
=
Income Tax Expense
Income Before Tax
Effective Tax Rate= 
Income Before Tax
Income Tax Expense
         
 
FY2022

Income Tax Expense: $31,000,000
Income Before Tax: -$4,904,000,000
Effective Tax Rate (2022)
=
31
,
000
,
000
−
4
,
904
,
000
,
000
≈
−
0.0063
 or 
−
0.63
%
Effective Tax Rate (2022)= 
−4,904,000,000
31,000,000
         
 ≈−0.0063 or −0.63%
FY2021

Income Tax Expense: -$743,000,000
Income Before Tax: -$4,945,000,000
Effective Tax Rate (2021)
=
−
743
,
000
,
000
−
4
,
945
,
000
,
000
≈
0.1505
 or 
15.05
%
Effective Tax Rate (2021)= 
−4,945,000,000
−743,000,000
         
 ≈0.1505 or 15.05%
Comparison

FY2022 Effective Tax Rate: -0.63%
FY2021 Effective Tax Rate: 15.05%
Conclusion

Boeing's effective tax rate in FY2022 was significantly lower than in FY2021, moving from a positive effective tax rate of 15.05% in FY2021 to a negative effective tax rate of -0.63% in FY2022. This indicates that Boeing had a tax benefit in FY2022, likely due to losses carried forward or other tax strategies.

Based on the information provided primarily in the balance sheet and the statement of income, what is FY2020 days payable outstanding (DPO) for Corning? DPO is defined as: 365 * (average accounts payable between FY2019 and FY2020) / (FY2020 COGS + change in inventory between FY2019 and FY2020). Round your answer to two decimal places.63.86 To calculate the Days Payable Outstanding (DPO) for Corning in FY2020, we will use the formula:

DPO
=
365
×
Average Accounts Payable
COGS
+
Change in Inventory
DPO= 
COGS+Change in Inventory
365×Average Accounts Payable
         
 
Step 1: Gather the required data

Accounts Payable:

FY2019 Accounts Payable: $1,587,000,000
FY2020 Accounts Payable: $1,174,000,000
Average Accounts Payable = 
1
,
587
,
000
,
000
+
1
,
174
,
000
,
000
2
=
1
,
380
,
500
,
000
2
1,587,000,000+1,174,000,000
         
 =1,380,500,000
Cost of Goods Sold (COGS) for FY2020: $7,772,000,000

Inventory:

FY2019 Inventory: $2,320,000,000
FY2020 Inventory: $2,481,000,000
Change in Inventory = FY2020 Inventory - FY2019 Inventory =
2
,
481
,
000
,
000
−
2
,
320
,
000
,
000
=
161
,
000
,
000
2,481,000,000−2,320,000,000=161,000,000
Step 2: Plug the values into the DPO formula

DPO
=
365
×
1
,
380
,
500
,
000
7
,
772
,
000
,
000
+
161
,
000
,
000
DPO= 
7,772,000,000+161,000,000
365×1,380,500,000
         
 
Calculating the denominator:

COGS
+
Change in Inventory
=
7
,
772
,
000
,
000
+
161
,
000
,
000
=
7
,
933
,
000
,
000
COGS+Change in Inventory=7,772,000,000+161,000,000=7,933,000,000
Now substituting back into the DPO formula:

DPO
=
365
×
1
,
380
,
500
,
000
7
,
933
,
000
,
000
DPO= 
7,933,000,000
365×1,380,500,000
         
 
Calculating the DPO:

DPO
=
504
,
182
,
500
,
000
7
,
933
,
000
,
000
≈
63.6
DPO= 
7,933,000,000
504,182,500,000
         
 ≈63.6
Final Answer

The Days Payable Outstanding (DPO) for Corning in FY2020 is approximately 63.60 days.

Does Corning have positive working capital based on FY2022 data? If working capital is not a useful or relevant metric for this company, then please state that and explain why.Yes. Corning had a positive working capital amount of $831 million by FY 2022 close. This answer considers only operating current assets and current liabilities that were clearly shown in the balance sheet.To determine if Corning has positive working capital based on FY2022 data, we need to calculate working capital using the formula:

Working Capital
=
Total Current Assets
−
Total Current Liabilities
Working Capital=Total Current Assets−Total Current Liabilities

From the FY2022 data:

Total Current Assets: $7,453,000,000
Total Current Liabilities: $5,175,000,000
Now, let's calculate the working capital:

Working Capital
=
7
,
453
,
000
,
000
−
5
,
175
,
000
,
000
=
2
,
278
,
000
,
000
Working Capital=7,453,000,000−5,175,000,000=2,278,000,000

Since the working capital is positive ($2,278,000,000), Corning does have positive working capital based on FY2022 data.

Relevance of Working Capital for Corning

Working capital is generally a useful metric for assessing a company's short-term financial health and operational efficiency. However, for companies like Corning, which operate in capital-intensive industries (such as manufacturing and technology), working capital might not be the most relevant metric.

In such industries, companies often have significant investments in fixed assets and inventory, which can lead to fluctuations in working capital that do not necessarily reflect operational efficiency or liquidity. Instead, other metrics such as cash flow from operations, return on investment, and long-term debt levels may provide more insight into the company's financial health and operational performance.

In summary, while Corning does have positive working capital, the relevance of this metric may be limited in the context of its overall financial analysis.

What drove gross margin change as of FY2022 for JnJ? If gross margin is not a useful metric for a company like this, then please state that and explain why.For FY22, JnJ had changes in gross margin due to: One-time COVID-19 vaccine manufacturing exit related costs, Currency impacts in the Pharmaceutical segment, Commodity inflation in the MedTech and Consumer Health segments, partially offset by Supply chain benefits in the Consumer Health segment.n FY2022, Johnson & Johnson (J&J) reported the following financial figures:

Total Revenue: $79.428 billion
Gross Profit: $55.394 billion
Cost of Revenue: $50.533 billion
Gross Margin Calculation

The gross margin can be calculated using the formula:

Gross Margin
=
Gross Profit
Total Revenue
×
100
Gross Margin= 
Total Revenue
Gross Profit
         
 ×100
For FY2022:

Gross Margin
=
55.394
 billion
79.428
 billion
×
100
≈
69.7
%
Gross Margin= 
79.428 billion
55.394 billion
         
 ×100≈69.7%
Change in Gross Margin

To analyze the change in gross margin, we can compare it to the previous fiscal year (FY2021):

FY2021 Total Revenue: $93.356 billion
FY2021 Gross Profit: $63.920 billion
Calculating the gross margin for FY2021:

Gross Margin FY2021
=
63.920
 billion
93.356
 billion
×
100
≈
68.4
%
Gross Margin FY2021= 
93.356 billion
63.920 billion
         
 ×100≈68.4%
Gross Margin Change

The gross margin increased from approximately 68.4% in FY2021 to 69.7% in FY2022, indicating an improvement in profitability.

Factors Driving Gross Margin Change

Cost Management: J&J may have implemented cost-saving measures or efficiencies in production, leading to lower costs of goods sold (COGS) relative to revenue.
Product Mix: Changes in the product mix, such as a higher proportion of higher-margin products, could have contributed to the increase in gross margin.
Pricing Power: J&J may have been able to increase prices for its products without a corresponding increase in costs, enhancing gross profit.
Operational Efficiency: Improvements in operational efficiency and supply chain management could have reduced costs, positively impacting gross margin.
Is Gross Margin a Useful Metric for J&J?

While gross margin is a useful metric for assessing profitability, it may not fully capture the financial health of a company like Johnson & Johnson, which operates in diverse sectors (pharmaceuticals, medical devices, and consumer health products). Here are some reasons why gross margin alone may not be sufficient:

Diverse Product Lines: J&J's various product lines may have different gross margins, making it essential to analyze margins at a more granular level.
R&D Investments: Significant investments in research and development (R&D) are crucial for pharmaceutical companies. These costs are not reflected in gross margin but impact overall profitability.
Operating Expenses: Gross margin does not account for selling, general, and administrative expenses (SG&A), which can significantly affect net income.
Market Dynamics: External factors such as competition, regulatory changes, and market demand can influence profitability beyond what gross margin indicates.
In summary, while gross margin provides valuable insights into J&J's profitability, it should be analyzed alongside other financial metrics and contextual factors to gain a comprehensive understandingError: An error occurred while calling the agent: peer closed connection without sending complete message body (incomplete chunked read)

Is growth in JnJ's adjusted EPS expected to accelerate in FY2023?No, rate of growth in adjusted EPS is expected to decelerate slightly from 3.6% in FY2022 to 3.5% in FY2023.Johnson & Johnson (JNJ) is expected to see a decline in adjusted earnings per share (EPS) growth for the fiscal year 2023. The company's quarterly earnings growth year-over-year is reported at -89.1%, indicating a significant decrease in profitability compared to the previous year.

For the fiscal year ending December 31, 2023, JNJ's total revenue is projected to be approximately $84.02 billion, with a gross profit of around $58.61 billion. The net income is expected to be about $35.15 billion. This suggests that while the company is generating substantial revenue, the growth in adjusted EPS is not expected to accelerate but rather decline.

In summary, the growth in JNJ's adjusted EPS is not expected to accelerate in FY2023, as indicated by the negative growth rate in quarterly earnings.

How did JnJ's US sales growth compare to international sales growth in FY2022?US sales increased 3.0% vs international sales decline of 0.6%. In FY2022, Johnson & Johnson (JNJ) reported total revenue of approximately $79.43 billion. The breakdown of sales growth between the U.S. and international markets is as follows:

U.S. Sales Growth:

The U.S. market contributed significantly to JNJ's revenue, but specific growth figures for U.S. sales were not detailed in the provided data.
International Sales Growth:

International sales also played a crucial role in JNJ's overall performance, but again, specific growth figures were not provided.
To summarize, while the overall revenue growth for JNJ in FY2022 was positive, the specific comparison between U.S. and international sales growth was not detailed in the data retrieved. For precise figures, further detailed financial reports or earnings calls would be necessary.

What is the amount of the gain accruing to JnJ as a result of the separation of its Consumer Health business segment, as of August 30, 2023?JnJ will make a gain of approximately $20 billion from the separation of its Consumer Health business segment.As of August 30, 2023, Johnson & Johnson announced the separation of its Consumer Health business segment into a new standalone company named Kenvue Inc. However, specific details regarding the exact amount of the gain accruing to Johnson & Johnson from this separation were not disclosed in the available information. The separation was part of a broader restructuring strategy aimed at enhancing shareholder value and allowing Kenvue to operate independently.

For precise financial figures related to the gain from this separation, further financial disclosures or reports from Johnson & Johnson would be necessary.Which of JPM's business segments had the lowest net revenue in 2021 Q1?Corporate. Its net revenue was -$473 million. In Q1 2021, JPMorgan Chase's business segments reported the following net revenues:

Consumer & Community Banking: $16.5 billion
Corporate & Investment Bank: $12.1 billion
Commercial Banking: $2.1 billion
Asset & Wealth Management: $4.0 billion
Among these segments, Commercial Banking had the lowest net revenue in Q1 2021, totaling $2.1 billion.

If JPM went bankrupted by the end by 2021 Q1 and liquidated all of its assets to pay its shareholders, how much could each shareholder get?They could receive $66.56 per share. To determine how much each shareholder of JPMorgan Chase & Co. (JPM) could receive if the company went bankrupt and liquidated all its assets, we need to look at the total assets and total liabilities from the balance sheet as of the end of Q1 2021.

Key Financials as of Q1 2021:

Total Assets: $3,689,336,000,000 (approximately $3.69 trillion)
Total Liabilities: $3,408,622,000,000 (approximately $3.41 trillion)
Total Shareholder Equity: $280,714,000,000 (approximately $280.71 billion)
Shares Outstanding: 3,073,500,000 (approximately 3.07 billion shares)
Calculation:

Net Assets Available for Shareholders:

Net Assets
=
Total Assets
−
Total Liabilities
=
3
,
689
,
336
,
000
,
000
−
3
,
408
,
622
,
000
,
000
=
280
,
714
,
000
,
000
Net Assets=Total Assets−Total Liabilities=3,689,336,000,000−3,408,622,000,000=280,714,000,000
Amount per Shareholder:

Amount per Share
=
Net Assets
Shares Outstanding
=
280
,
714
,
000
,
000
3
,
073
,
500
,
000
≈
91.24
Amount per Share= 
Shares Outstanding
Net Assets
         
 = 
3,073,500,000
280,714,000,000
         
 ≈91.24
Conclusion:

If JPMorgan Chase & Co. went bankrupt and liquidated all its assets, each shareholder could potentially receive approximately $91.24 per share.

What is Lockheed Martin's 2 year total revenue CAGR from FY2020 to FY2022 (in units of percents and round to one decimal place)? Provide a response to the question by primarily using the statement of income.0.4% To calculate Lockheed Martin's 2-year total revenue Compound Annual Growth Rate (CAGR) from FY2020 to FY2022, we can use the following formula:

CAGR
=
(
Ending Value
Beginning Value
)
1
n
−
1
CAGR=( 
Beginning Value
Ending Value
         
 ) 
n
1
         
 
 −1
Where:

Ending Value is the total revenue for FY2022.
Beginning Value is the total revenue for FY2020.
n is the number of years (which is 2 in this case).
From the income statement:

Total Revenue for FY2020: $65,398,000,000
Total Revenue for FY2022: $65,984,000,000
Now, substituting the values into the formula:

CAGR
=
(
65
,
984
,
000
,
000
65
,
398
,
000
,
000
)
1
2
−
1
CAGR=( 
65,398,000,000
65,984,000,000
         
 ) 
2
1
         
 
 −1
Calculating this gives:

CAGR
=
(
1.0090
)
0.5
−
1
≈
0.0045
 or 
0.45
%
CAGR=(1.0090) 
0.5
 −1≈0.0045 or 0.45%
Rounding to one decimal place, the 2-year total revenue CAGR from FY2020 to FY2022 for Lockheed Martin is approximately 0.5%.

What is the FY2018 - FY2020 3 year average of capex as a % of revenue for MGM Resorts? Answer in units of percents and round to one decimal place. Please utilize information provided primarily within the statement of cash flows and the statement of income.7.9% To calculate the FY2018 - FY2020 3-year average of capital expenditures (capex) as a percentage of revenue for MGM Resorts, we will use the following data:

Capital Expenditures (Capex):

FY2018: $1,486,843,000
FY2019: $739,006,000
FY2020: $270,579,000
Total Revenue:

FY2018: $10,989,964,000
FY2019: $14,531,585,000
FY2020: $5,851,185,000
Calculation Steps:

Calculate Capex as a Percentage of Revenue for Each Year:

FY2018: 
1
,
486
,
843
,
000
10
,
989
,
964
,
000
×
100
10,989,964,000
1,486,843,000
         
 ×100
FY2019: 
739
,
006
,
000
14
,
531
,
585
,
000
×
100
14,531,585,000
739,006,000
         
 ×100
FY2020: 
270
,
579
,
000
5
,
851
,
185
,
000
×
100
5,851,185,000
270,579,000
         
 ×100
Calculate the Average of These Percentages.

Performing the Calculations:

FY2018:

\text{Capex %} = \frac{1,486,843,000}{10,989,964,000} \times 100 \approx 13.5\%
FY2019:

\text{Capex %} = \frac{739,006,000}{14,531,585,000} \times 100 \approx 5.1\%
FY2020:

\text{Capex %} = \frac{270,579,000}{5,851,185,000} \times 100 \approx 4.6\%
Average Capex %:

Average
=
13.5
+
5.1
+
4.6
3
≈
7.7
%
Average= 
3
13.5+5.1+4.6
         
 ≈7.7%
Final Result:

The FY2018 - FY2020 3-year average of capex as a percentage of revenue for MGM Resorts is approximately 7.7%.

Has Microsoft increased its debt on balance sheet between FY2023 and the FY2022 period?No. Microsoft decreased its debt by $2.5bn in FY 2023 vs FY 2022. To determine whether Microsoft has increased its debt on the balance sheet between FY2023 and FY2022, we can compare the total liabilities and the breakdown of current and long-term debt for those fiscal years.

Key Figures:

FY2023 (as of June 30, 2023):

Total Liabilities: $205,753,000,000
Current Debt: $5,247,000,000
Long-Term Debt: $47,237,000,000
FY2022 (as of June 30, 2022):

Total Liabilities: $198,298,000,000
Current Debt: $2,749,000,000
Long-Term Debt: $49,781,000,000
Comparison:

Total Liabilities increased from $198.3 billion in FY2022 to $205.8 billion in FY2023.
Current Debt increased from $2.7 billion in FY2022 to $5.2 billion in FY2023.
Long-Term Debt decreased from $49.8 billion in FY2022 to $47.2 billion in FY2023.
Conclusion:

Microsoft has increased its total liabilities and current debt between FY2022 and FY2023. However, its long-term debt has decreased. Overall, while the total debt (current + long-term) has increased, the composition has changed with a shift towards more current liabilities.

Does Paypal have positive working capital based on FY2022 data? If working capital is not a useful or relevant metric for this company, then please state that and explain why.Yes. Paypal has a positive working capital of $ 1.6Bn as of FY2022 end. To determine if PayPal has positive working capital based on FY2022 data, we need to calculate working capital using the formula:

Working Capital = Total Current Assets - Total Current Liabilities

From the FY2022 balance sheet data for PayPal (PYPL):

Total Current Assets: $57,424,000,000
Total Current Liabilities: $45,008,000,000
Now, let's calculate the working capital:

Working Capital
=
57
,
424
,
000
,
000
−
45
,
008
,
000
,
000
=
12
,
416
,
000
,
000
Working Capital=57,424,000,000−45,008,000,000=12,416,000,000
Since the working capital is positive ($12,416,000,000), we can conclude that PayPal does have positive working capital based on FY2022 data.

Relevance of Working Capital for PayPal

Working capital is generally a useful metric for assessing a company's short-term financial health and operational efficiency. However, for companies like PayPal, which operate primarily in the digital payments space, the relevance of working capital can vary:

Nature of Business: PayPal's business model involves processing transactions rather than holding large inventories or physical goods. This can lead to a different working capital structure compared to traditional retail or manufacturing companies.

Cash Management: PayPal often has significant cash and cash equivalents, which can inflate current assets. The company may also have high current liabilities due to the nature of its operations, such as customer deposits and transaction settlements.

Liquidity Focus: Investors may focus more on liquidity ratios (like the current ratio or quick ratio) rather than working capital alone, as these provide a clearer picture of the company's ability to meet short-term obligations.

In summary, while PayPal does have positive working capital, the metric may not be as critical for evaluating its financial health compared to other companies in different sectors.

What is the FY2022 unadjusted EBITDA % margin for PepsiCo? Calculate unadjusted EBITDA using unadjusted operating income and D&A (from cash flow statement). Give a response to the question by relying on the details shown in the statement of cash flows and the P&L statement.16.5% To calculate the unadjusted EBITDA % margin for PepsiCo for FY2022, we will use the following formula:

\text{Unadjusted EBITDA} = \text{Operating Income} + \text{Depreciation and Amortization (D&A)}
Then, we can calculate the EBITDA % margin using:

\text{EBITDA % Margin} = \left( \frac{\text{Unadjusted EBITDA}}{\text{Total Revenue}} \right) \times 100
Step 1: Gather the necessary data

From the financial statements for FY2022:

Operating Income: $11,512,000,000
Depreciation and Amortization (D&A): $2,685,000,000
Total Revenue: $86,392,000,000
Step 2: Calculate Unadjusted EBITDA

Unadjusted EBITDA
=
11
,
512
,
000
,
000
+
2
,
685
,
000
,
000
=
14
,
197
,
000
,
000
Unadjusted EBITDA=11,512,000,000+2,685,000,000=14,197,000,000
Step 3: Calculate EBITDA % Margin

\text{EBITDA % Margin} = \left( \frac{14,197,000,000}{86,392,000,000} \right) \times 100 \approx 16.4\%
Conclusion

The FY2022 unadjusted EBITDA % margin for PepsiCo is approximately 16.4%.

As of Q2'2023, is Pfizer spinning off any large business segments?Yes, it's spinning off Upjohn. As of Q2 2023, Pfizer announced the termination of its hemophilia A gene therapy partnership with Sangamo Therapeutics. This decision was part of a strategic realignment of its business segments, focusing on other areas of its portfolio. The termination followed BioMarin Pharmaceutical's FDA approval for its hemophilia A gene therapy in June 2023, although the slow launch of that product led BioMarin to narrow its focus to three markets.

For more details, you can read the full article here.Does Verizon have a reasonably healthy liquidity profile based on its quick ratio for FY 2022? If the quick ratio is not relevant to measure liquidity, please state that and explain why.No. The quick ratio was approximately 0.54 for Verizon. It indicated that Verizon does not have a healthy liquidity profile.To evaluate Verizon's liquidity profile based on its quick ratio for FY 2022, we first need to calculate the quick ratio using the relevant financial data.

Quick Ratio Formula

The quick ratio is calculated using the formula:

Quick Ratio
=
Current Assets
−
Inventory
Current Liabilities
Quick Ratio= 
Current Liabilities
Current Assets−Inventory
         
 
Financial Data for FY 2022

From the balance sheet data for Verizon for FY 2022:

Total Current Assets: $37,857,000,000
Inventory: $2,388,000,000
Total Current Liabilities: $50,171,000,000
Calculation

Current Assets - Inventory:

37
,
857
,
000
,
000
−
2
,
388
,
000
,
000
=
35
,
469
,
000
,
000
37,857,000,000−2,388,000,000=35,469,000,000
Quick Ratio:

Quick Ratio
=
35
,
469
,
000
,
000
50
,
171
,
000
,
000
≈
0.706
Quick Ratio= 
50,171,000,000
35,469,000,000
         
 ≈0.706
Interpretation

A quick ratio of approximately 0.706 indicates that Verizon has less than one dollar in liquid assets for every dollar of current liabilities. This suggests that Verizon may face challenges in meeting its short-term obligations without selling inventory or obtaining additional financing.

Conclusion

Based on the quick ratio of 0.706 for FY 2022, Verizon does not have a reasonably healthy liquidity profile. A quick ratio below 1.0 typically indicates potential liquidity issues, as it suggests that the company may not have enough liquid assets to cover its current liabilities.

If you have any further questions or need additional analysis, feel free to ask!

Is Verizon a capital intensive business based on FY 2022 data?Yes. Verizon's capital intensity ratio was approximately 2.774729. This means that it took approximately $2.77 of assets to generate $1 of revenue and thus, Verizon can be considered capital intensive.Verizon Communications Inc. (ticker: VZ) is indeed a capital-intensive business, particularly evident from its financial data for the fiscal year 2022. Here are some key points that support this conclusion:

Capital Expenditures: In FY 2022, Verizon reported capital expenditures of approximately $26.74 billion. This significant investment in capital assets is indicative of a capital-intensive business model, as it requires substantial funds to maintain and expand its infrastructure, such as network equipment and facilities.

Property, Plant, and Equipment: As of the end of FY 2022, Verizon had $107.43 billion in property, plant, and equipment. This reflects the company's heavy investment in physical assets necessary for its telecommunications operations.

Depreciation and Amortization: The company reported depreciation and amortization expenses of approximately $17.10 billion for FY 2022. This high level of depreciation is typical for capital-intensive businesses, as it reflects the wear and tear on their substantial physical assets.

Total Assets: Verizon's total assets were reported at $379.68 billion at the end of FY 2022, with a significant portion tied up in long-term assets, further emphasizing its capital-intensive nature.

Revenue Generation: Despite the high capital expenditures, Verizon generated total revenues of approximately $136.83 billion in FY 2022, indicating that the investments are aimed at supporting substantial revenue generation.

In summary, Verizon's substantial capital expenditures, significant investments in property and equipment, and high levels of depreciation all point to it being a capital-intensive business.

What is FY2018 days payable outstanding (DPO) for Walmart? DPO is defined as: 365 * (average accounts payable between FY2017 and FY2018) / (FY2018 COGS + change in inventory between FY2017 and FY2018). Round your answer to two decimal places. Please base your judgments on the information provided primarily in the statement of financial position and the P&L statement.42.69 To calculate the Days Payable Outstanding (DPO) for Walmart for FY2018, we will use the formula:

DPO
=
365
×
Average Accounts Payable
COGS
+
Change in Inventory
DPO= 
COGS+Change in Inventory
365×Average Accounts Payable
         
 
Step 1: Gather the required data

Accounts Payable:

FY2017 Accounts Payable: $41,433,000,000 (as of January 31, 2017)
FY2018 Accounts Payable: $46,092,000,000 (as of January 31, 2018)
Average Accounts Payable
=
41
,
433
,
000
,
000
+
46
,
092
,
000
,
000
2
=
43
,
762
,
500
,
000
Average Accounts Payable= 
2
41,433,000,000+46,092,000,000
         
 =43,762,500,000
Cost of Goods Sold (COGS):

FY2018 COGS: $373,396,000,000 (for the year ending January 31, 2018)
Inventory:

FY2017 Inventory: $43,046,000,000 (as of January 31, 2017)
FY2018 Inventory: $43,783,000,000 (as of January 31, 2018)
Change in Inventory
=
43
,
783
,
000
,
000
−
43
,
046
,
000
,
000
=
737
,
000
,
000
Change in Inventory=43,783,000,000−43,046,000,000=737,000,000
Step 2: Calculate DPO

Now we can plug these values into the DPO formula:

DPO
=
365
×
43
,
762
,
500
,
000
373
,
396
,
000
,
000
+
737
,
000
,
000
DPO= 
373,396,000,000+737,000,000
365×43,762,500,000
         
 
Calculating the denominator:

COGS
+
Change in Inventory
=
373
,
396
,
000
,
000
+
737
,
000
,
000
=
374
,
133
,
000
,
000
COGS+Change in Inventory=373,396,000,000+737,000,000=374,133,000,000
Now substituting back into the DPO formula:

DPO
=
365
×
43
,
762
,
500
,
000
374
,
133
,
000
,
000
DPO= 
374,133,000,000
365×43,762,500,000
         
 
Calculating the DPO:

DPO
≈
15
,
979
,
687
,
500
,
000
374
,
133
,
000
,
000
≈
42.74
DPO≈ 
374,133,000,000
15,979,687,500,000
         
 ≈42.74
Final Answer

The Days Payable Outstanding (DPO) for Walmart for FY2018 is approximately 42.74 days.

Which debt securities are registered to trade on a national securities exchange under 3M's name as of Q2 of 2023?Following debt securities registered under 3M's name are listed to trade on the New York Stock Exchange:
-1.500% Notes due 2026 (Trading Symbol: MMM26)
-1.750% Notes due 2030 (Trading Symbol: MMM30)
-1.500% Notes due 2031 (Trading Symbol: MMM31)

As of Q2 of 2023, 3M Company has registered debt securities to trade on a national securities exchange. The relevant filing was submitted to the United States Securities and Exchange Commission on Form 10-Q for the quarterly period ending June 30, 2023, under Commission file number 1-3285.

For more detailed information, you can refer to the quarterly report.



Question Answer ShmoneyAI (ChatGPT-4o-mini) Answer Is Correct/Wrong

What is the FY2019 fixed asset turnover ratio for Activision Blizzard? Fixed asset turnover ratio is defined as: FY2019 revenue / (average PP&E between FY2018 and FY2019). Round your answer to two decimal places. Base your judgments on the information provided primarily in the statement of income and the statement of financial position.24.26 Data not retrieved by Alpha Vantage

What is the FY2017 - FY2019 3 year average of capex as a % of revenue for Activision Blizzard? Answer in units of percents and round to one decimal place. Calculate (or extract) the answer from the statement of income and the cash flow statement.1.9% Data not retrieved by Alpha Vantage

Roughly how many times has AES Corporation sold its inventory in FY2022? Calculate inventory turnover ratio for the FY2022; if conventional inventory management is not meaningful for the company then state that and explain why.AES has converted inventory 9.5 times in FY 2022. To calculate the inventory turnover ratio for AES Corporation for the fiscal year 2022, we need the following information:

Cost of Goods Sold (COGS) for FY2022
Average Inventory for FY2022
1. Cost of Goods Sold (COGS)

From the income statement for FY2022:

COGS = $10,069,000,000
2. Average Inventory

From the balance sheet for FY2022:

Ending Inventory (2022) = $1,055,000,000
Ending Inventory (2021) = $604,000,000
Average Inventory = (Ending Inventory 2022 + Ending Inventory 2021) / 2 = (
1
,
055
,
000
,
000
+
1,055,000,000+604,000,000) / 2 = $829,500,000

3. Inventory Turnover Ratio Calculation

The inventory turnover ratio is calculated as follows:

[ \text{Inventory Turnover Ratio} = \frac{\text{COGS}}{\text{Average Inventory}} ]

Substituting the values:

[ \text{Inventory Turnover Ratio} = \frac{10,069,000,000}{829,500,000} \approx 12.14 ]

Conclusion

The inventory turnover ratio for AES Corporation for FY2022 is approximately 12.14. This indicates that the company sold and replaced its inventory about 12 times during the year.

Conventional Inventory Management

In the case of AES Corporation, which operates in the energy sector, conventional inventory management may not be as meaningful. This is because:

Nature of Business: AES Corporation is primarily involved in energy generation and distribution, where inventory may not be a significant aspect of operations compared to other industries like retail or manufacturing.
Asset-Heavy Operations: The company focuses more on capital assets (like power plants and infrastructure) rather than inventory, which can lead to a lower relevance of inventory turnover metrics.
Long-Term Projects: The energy sector often involves long-term projects and contracts, making inventory turnover less critical for assessing operational efficiency.
Thus, while the inventory turnover ratio provides some insight, it may not fully reflect the operational efficiency or performance of AES Corporation in its specific industry context.

Based on the information provided primarily in the statement of financial position and the statement of income, what is AES's FY2022 return on assets (ROA)? ROA is defined as: FY2022 net income / (average total assets between FY2021 and FY2022). Round your answer to two decimal places.-0.02

What is Amazon's FY2017 days payable outstanding (DPO)? DPO is defined as: 365 * (average accounts payable between FY2016 and FY2017) / (FY2017 COGS + change in inventory between FY2016 and FY2017). Round your answer to two decimal places. Address the question by using the line items and information shown within the balance sheet and the P&L statement.93.86 To calculate Amazon's Days Payable Outstanding (DPO) for FY2017, we will use the formula:

[ \text{DPO} = \frac{365 \times \text{Average Accounts Payable}}{\text{COGS} + \text{Change in Inventory}} ]
Step 1: Gather the required data

    Accounts Payable:
        FY2016 Accounts Payable: $25,309,000,000 (as of December 31, 2016)
        FY2017 Accounts Payable: $34,616,000,000 (as of December 31, 2017)

    [ \text{Average Accounts Payable} = \frac{25,309,000,000 + 34,616,000,000}{2} = 29,962,500,000 ]

    Cost of Goods Sold (COGS) for FY2017:
        COGS: $111,934,000,000

    Inventory:
        FY2016 Inventory: $11,461,000,000 (as of December 31, 2016)
        FY2017 Inventory: $16,047,000,000 (as of December 31, 2017)

    [ \text{Change in Inventory} = 16,047,000,000 - 11,461,000,000 = 4,586,000,000 ]

Step 2: Calculate DPO

Now we can plug the values into the DPO formula:

[ \text{DPO} = \frac{365 \times 29,962,500,000}{111,934,000,000 + 4,586,000,000} ]

Calculating the denominator:

[ \text{COGS} + \text{Change in Inventory} = 111,934,000,000 + 4,586,000,000 = 116,520,000,000 ]

Now substituting back into the DPO formula:

[ \text{DPO} = \frac{365 \times 29,962,500,000}{116,520,000,000} ]

Calculating the DPO:

[ \text{DPO} = \frac{10,949,287,500,000}{116,520,000,000} \approx 94.15 ]
Final Answer

Amazon's FY2017 Days Payable Outstanding (DPO) is approximately 94.15 days.

What are major acquisitions that AMCOR has done in FY2023, FY2022 and FY2021?Amcor completed these acquisitions during FY2023:
-100% equity interest of a flexibles manufacturing company in the Czech Republic
- 100% equity interest in a medical device packaging manufacturing site in
Shanghai, China.
-acquisition of a New Zealand-based leading manufacturer of state-of-the-art, automated protein
packaging machines.

Major Acquisitions by Amcor
FY2023

    In fiscal year 2023, Amcor completed the sale of its 50% interest in the Bericap North America (BCNA) joint venture for $122 million. The proceeds from this sale were utilized to reduce debt. This transaction was finalized on December 27, 2024. This was the only acquisition-related activity reported for the fiscal year.

FY2022

    Similar to FY2023, in fiscal year 2022, Amcor also completed the sale of its 50% interest in the Bericap North America (BCNA) joint venture for 122million∗∗.Theproceedswereagainusedtoreducedebt.ThistransactionwasfinalizedonDecember27,2024,andthejointventure′sfiscal2024totalsaleswereapproximately∗∗122million∗∗.Theproceedswereagainusedtoreducedebt.ThistransactionwasfinalizedonDecember27,2024,andthejointventure′sfiscal2024totalsaleswereapproximately∗∗190 million with an adjusted EBIT of around $19 million.

FY2021

    In fiscal year 2021, Amcor completed the same sale of its 50% interest in the Bericap North America (BCNA) joint venture for $122 million. The proceeds were used to reduce debt, and the details regarding the joint venture's performance were consistent with those mentioned for FY2022.

Summary

Throughout FY2021, FY2022, and FY2023, Amcor's major acquisition activity revolved around the sale of its interest in the BCNA joint venture, with a consistent focus on debt reduction.

For more details, you can refer to the Financial Times announcement.

What Was AMCOR's Adjusted Non GAAP EBITDA for FY 2023AMCOR's Adj. EBITDA was $2,018mn in FY 2023 Amcor's Adjusted Non-GAAP EBITDA for FY 2023 was approximately $2.108 billion.

Answer the following question as if you are an equity research analyst and have lost internet connection so you do not have access to financial metric providers. According to the details clearly outlined within the P&L statement and the statement of cash flows, what is the FY2015 depreciation and amortization (D&A from cash flow statement) % margin for AMD?4.2% To calculate the depreciation and amortization (D&A) percentage margin for AMD for FY2015, you would typically follow these steps using the Profit and Loss (P&L) statement and the statement of cash flows:

Locate the D&A Amount: Find the total depreciation and amortization expense for FY2015 from the cash flow statement. This figure is usually listed under operating activities.

Locate Total Revenue: Find the total revenue for AMD for FY2015 from the P&L statement.

Calculate the D&A Margin: Use the following formula to calculate the D&A percentage margin:

\text{D&A Margin} = \left( \frac{\text{D&A}}{\text{Total Revenue}} \right) \times 100
Example Calculation (Hypothetical Numbers)

Assume the D&A for FY2015 is $200 million.
Assume the total revenue for FY2015 is $4 billion.
Using the formula:

\text{D&A Margin} = \left( \frac{200 \text{ million}}{4000 \text{ million}} \right) \times 100 = 5\%
Conclusion

Without the actual figures from AMD's financial statements for FY2015, I cannot provide the exact D&A percentage margin. However, you can apply the above method using the actual numbers from the P&L and cash flow statements to arrive at the correct percentage.

What drove operating margin change as of the FY22 for AMD? If operating margin is not a useful metric for a company like this, then please state that and explain why.The decrease in AMD's operating income was primarily driven by amortization of intangible assets associated with the Xilinx acquisitionAs of the fiscal year 2022 (FY22), AMD's operating margin experienced a notable change. Here are the key figures from the income statement for FY22:

Total Revenue: $23.65 billion
Operating Income: $1.26 billion
Operating Margin: Operating Margin = (Operating Income / Total Revenue) * 100 = (1.26 billion / 23.65 billion) * 100 ≈ 5.33%
Factors Driving Operating Margin Change in FY22

Revenue Growth: AMD's total revenue increased significantly compared to previous years, driven by strong demand for its processors and graphics cards, particularly in the gaming and data center markets.

Cost of Revenue: The cost of revenue also increased, which impacted the gross profit. In FY22, the cost of revenue was $19.51 billion, leading to a gross profit of $10.60 billion. The increase in costs could be attributed to higher production costs, supply chain challenges, and increased competition.

Operating Expenses: AMD's operating expenses, which include selling, general, and administrative (SG&A) expenses and research and development (R&D) costs, were substantial. In FY22, SG&A expenses were approximately $2.34 billion, and R&D expenses were about $5.01 billion. These investments are crucial for long-term growth but can pressure operating margins in the short term.

Market Competition: Increased competition in the semiconductor industry, particularly from companies like Intel and NVIDIA, may have pressured AMD to invest more in marketing and R&D, impacting operating margins.

Is Operating Margin a Useful Metric for AMD?

Operating margin can be a useful metric for AMD, but it has limitations:

High R&D Costs: AMD invests heavily in research and development to innovate and compete in the fast-paced semiconductor industry. This can lead to lower operating margins in the short term, even if the company is performing well in terms of revenue growth and market share.

Cyclical Nature of the Industry: The semiconductor industry is cyclical, with periods of high demand followed by downturns. Operating margins may fluctuate significantly based on market conditions, making it less reliable as a standalone metric.

Focus on Long-Term Growth: AMD's strategy often emphasizes long-term growth and market share over immediate profitability. This can result in lower operating margins during periods of heavy investment.

In summary, while operating margin provides insights into AMD's operational efficiency, it should be considered alongside other metrics, such as gross margin, net income, and cash flow, to get a comprehensive view of the company's financial health and performance.

In agreement with the information outlined in the income statement, what is the FY2015 - FY2017 3 year average net profit margin (as a %) for Best Buy? Answer in units of percents and round to one decimal place.2.8% To calculate the net profit margin for Best Buy from FY2015 to FY2017, we will use the following formula:

Net Profit Margin
=
(
Net Income
Total Revenue
)
×
100
Net Profit Margin=( 
Total Revenue
Net Income
         
 )×100
Data for FY2015 to FY2017:

FY2015:

Net Income: $519,000,000
Total Revenue: $14,209,000,000
Net Profit Margin: 
519
,
000
,
000
14
,
209
,
000
,
000
×
100
≈
3.6
%
14,209,000,000
519,000,000
         
 ×100≈3.6%
FY2016:

Net Income: $479,000,000
Total Revenue: $13,623,000,000
Net Profit Margin: 
479
,
000
,
000
13
,
623
,
000
,
000
×
100
≈
3.5
%
13,623,000,000
479,000,000
         
 ×100≈3.5%
FY2017:

Net Income: $607,000,000
Total Revenue: $13,534,000,000
Net Profit Margin: 
607
,
000
,
000
13
,
534
,
000
,
000
×
100
≈
4.5
%
13,534,000,000
607,000,000
         
 ×100≈4.5%
Average Net Profit Margin Calculation:

Average Net Profit Margin
=
3.6
+
3.5
+
4.5
3
≈
3.867
%
Average Net Profit Margin= 
3
3.6+3.5+4.5
         
 ≈3.867%
Final Answer:

The FY2015 - FY2017 3-year average net profit margin for Best Buy is approximately 3.9% (rounded to one decimal place).

What are major acquisitions that Best Buy has done in FY2023, FY2022 and FY2021?Best Buy closed two acquisitions, both these companies were already partially owned by Best Buy, but Best Buy acquired all outstanding shares of these two companies during FY 2022: (1) Current Health Ltd and (2) Two Peaks, LLC d/b/a Yardbird FurnitureHere's a summary of Best Buy's major acquisitions over the fiscal years 2023, 2022, and 2021:

FY2023

Acquisitions: Best Buy did not engage in any major acquisitions during FY2023. However, it is worth noting that Stryker, a company Best Buy has invested in, announced its intention to acquire Inari Medical for nearly $5 billion. This acquisition is significant in the medical technology sector but is not directly related to Best Buy's own acquisition activities.
Read more about Stryker's acquisition
FY2022

Acquisitions: Best Buy did not announce any major acquisitions in FY2022. The available information focused on unrelated topics, and there were no significant acquisition activities reported for the company during this period.
FY2021

Acquisitions: Similar to FY2022, Best Buy did not announce any major acquisitions in FY2021. Instead, the company concentrated on significant investments in enhancing its digital experiences, particularly through improvements to its consumer app. This was part of a broader strategy to adapt to changing consumer needs and emphasize digital transformation.
In summary, Best Buy has not made any major acquisitions in FY2023, FY2022, or FY2021, focusing instead on internal improvements and investments in technology.

Was there any change in the number of Best Buy stores between Q2 of FY2024 and FY2023?Yes, there is decline in number stores by 1.32% from 982 stores in Q2 FY 2023 to 969 by the end of Q2 FY2024.To determine the change in the number of Best Buy stores between Q2 of FY2024 and FY2023, we can look at the quarterly reports for those periods.

Q2 FY2024 (ending August 3, 2024):

Total number of stores: 1,000
Q2 FY2023 (ending August 6, 2023):

Total number of stores: 1,050
Change in Number of Stores:

Q2 FY2024: 1,000 stores
Q2 FY2023: 1,050 stores
Calculation:

Change = 1,000 - 1,050 = -50 stores
Conclusion:

There was a decrease of 50 stores in Best Buy's total number of stores from Q2 of FY2023 to Q2 of FY2024.

Which Best Buy product category performed the best (by top line) in the domestic (USA) Market during Q2 of FY2024?The entertainment segment experienced the highest growth of 9% during Q2 FY2024, primarily from gaming division.In Q2 of FY2024, Best Buy's product category that performed the best in the domestic (USA) market was AI-enabled laptops. There was strong demand for these laptops, particularly those equipped with advanced productivity tools, content creation capabilities, and enhanced security features. This trend aligns with the growing interest in AI PCs, which are expected to further benefit categories like gaming in the near future.

Considering the data in the balance sheet, what is Block's (formerly known as Square) FY2016 working capital ratio? Define working capital ratio as total current assets divided by total current liabilities. Round your answer to two decimal places.1.73 Error

What is the FY2019 - FY2020 total revenue growth rate for Block (formerly known as Square)? Answer in units of percents and round to one decimal place. Approach the question asked by assuming the standpoint of an investment banking analyst who only has access to the statement of income.101.5% It seems that I'm unable to retrieve the income statement data for Block (formerly known as Square) at this moment. Without the specific revenue figures for FY2019 and FY2020, I cannot calculate the total revenue growth rate.

If you have access to the revenue figures for those fiscal years, you can calculate the growth rate using the following formula:

Growth Rate
=
(
Revenue in FY2020
−
Revenue in FY2019
Revenue in FY2019
)
×
100
Growth Rate=( 
Revenue in FY2019
Revenue in FY2020−Revenue in FY2019
         
 )×100
Please provide the revenue figures if you have them, and I can assist you with the calculation.

Using the cash flow statement, answer the following question to the best of your abilities: how much did Block (formerly known as Square) generate in cash flow from operating activities in FY2020? Answer in USD millions.$382.00 It seems that I couldn't retrieve the cash flow statement for Block (formerly known as Square) at this moment. However, you can typically find the cash flow from operating activities in the company's annual report or financial statements for FY2020.

If you have access to the financial statements, look for the "Cash Flow from Operating Activities" section in the cash flow statement. If you need further assistance or specific details, please let me know!Are there any product categories / service categories that represent more than 20% of Boeing's revenue for FY2022?Yes. Boeing has product and service categories that represent more than 20% of Boeing's revenue for FY2022. These categories are Commercial Airplanes which comprises 39% of total revenue, Defence which comprises 35% of total revenue and Services which comprises 26% of total revenue.In FY2022, Boeing's total revenue was approximately $66.6 billion. To determine if any product or service categories represented more than 20% of this revenue, we can analyze the segments of Boeing's business.

Boeing primarily operates in two main segments:

Commercial Airplanes: This segment includes the design, manufacture, and sale of commercial jet aircraft.
Defense, Space & Security: This segment includes military aircraft, satellites, and other defense-related products and services.
While the exact breakdown of revenue by segment is not provided in the data retrieved, historically, the Commercial Airplanes segment has typically accounted for a significant portion of Boeing's revenue, often exceeding 20%.

To confirm this, we would need to look at the detailed financial statements or segment reporting for Boeing for FY2022. However, based on historical trends, it is likely that the Commercial Airplanes segment alone represents more than 20% of Boeing's total revenue.

If you would like, I can search for the specific segment revenue breakdown for Boeing in FY2022. Would you like me to do that?

What is the FY2019 cash conversion cycle (CCC) for General Mills? CCC is defined as: DIO + DSO - DPO. DIO is defined as: 365 * (average inventory between FY2018 and FY2019) / (FY2019 COGS). DSO is defined as: 365 * (average accounts receivable between FY2018 and FY2019) / (FY2019 Revenue). DPO is defined as: 365 * (average accounts payable between FY2018 and FY2019) / (FY2019 COGS + change in inventory between FY2018 and FY2019). Round your answer to two decimal places. Address the question by using the line items and information shown within the income statement and the balance sheet.-3.7 To calculate the Cash Conversion Cycle (CCC) for General Mills for FY2019, we need to compute the three components: Days Inventory Outstanding (DIO), Days Sales Outstanding (DSO), and Days Payable Outstanding (DPO).

Step 1: Gather the necessary data

Cost of Goods Sold (COGS) for FY2019: $11,108,400,000
Total Revenue for FY2019: $20,439,000,000
Average Inventory:
Inventory at the end of FY2018: $1,642,200,000
Inventory at the end of FY2019: $1,559,300,000
Average Inventory = (1,642,200,000 + 1,559,300,000) / 2 = $1,600,750,000
Average Accounts Receivable:
Accounts Receivable at the end of FY2018: $1,684,200,000
Accounts Receivable at the end of FY2019: $1,679,700,000
Average Accounts Receivable = (1,684,200,000 + 1,679,700,000) / 2 = $1,681,950,000
Average Accounts Payable:
Accounts Payable at the end of FY2018: $2,746,200,000
Accounts Payable at the end of FY2019: $2,854,100,000
Average Accounts Payable = (2,746,200,000 + 2,854,100,000) / 2 = $2,800,150,000
Step 2: Calculate DIO, DSO, and DPO

Days Inventory Outstanding (DIO):

D
I
O
=
365
×
Average Inventory
COGS
=
365
×
1
,
600
,
750
,
000
11
,
108
,
400
,
000
≈
53.06
 days
DIO= 
COGS
365×Average Inventory
         
 = 
11,108,400,000
365×1,600,750,000
         
 ≈53.06 days
Days Sales Outstanding (DSO):

D
S
O
=
365
×
Average Accounts Receivable
Total Revenue
=
365
×
1
,
681
,
950
,
000
20
,
439
,
000
,
000
≈
30.00
 days
DSO= 
Total Revenue
365×Average Accounts Receivable
         
 = 
20,439,000,000
365×1,681,950,000
         
 ≈30.00 days
Days Payable Outstanding (DPO):

D
P
O
=
365
×
Average Accounts Payable
COGS
+
Change in Inventory
DPO= 
COGS+Change in Inventory
365×Average Accounts Payable
         
 
Change in Inventory = Inventory at end of FY2019 - Inventory at end of FY2018 = $1,559,300,000 - $1,642,200,000 = -$82,900,000
D
P
O
=
365
×
2
,
800
,
150
,
000
11
,
108
,
400
,
000
−
82
,
900
,
000
≈
93.78
 days
DPO= 
11,108,400,000−82,900,000
365×2,800,150,000
         
 ≈93.78 days
Step 3: Calculate Cash Conversion Cycle (CCC)

C
C
C
=
D
I
O
+
D
S
O
−
D
P
O
=
53.06
+
30.00
−
93.78
≈
−
10.72
 days
CCC=DIO+DSO−DPO=53.06+30.00−93.78≈−10.72 days
Final Result

The Cash Conversion Cycle (CCC) for General Mills for FY2019 is approximately -10.72 days.

Roughly how many times has JnJ sold its inventory in FY2022? Calculate inventory turnover ratio for FY2022; if conventional inventory management is not meaningful for the company then state that and explain why.JnJ sold its inventory 2.7 times in FY2022. To calculate the inventory turnover ratio for Johnson & Johnson (JNJ) for the fiscal year 2022, we can use the following formula:

Inventory Turnover Ratio
=
Cost of Goods Sold (COGS)
Average Inventory
Inventory Turnover Ratio= 
Average Inventory
Cost of Goods Sold (COGS)
         
 
Step 1: Gather the necessary data

From the financial statements for FY2022:

Cost of Goods Sold (COGS): $24,596,000,000
Ending Inventory: $10,268,000,000 (as of December 31, 2022)
Beginning Inventory: $10,387,000,000 (as of December 31, 2021)
Step 2: Calculate Average Inventory

Average Inventory
=
Beginning Inventory
+
Ending Inventory
2
Average Inventory= 
2
Beginning Inventory+Ending Inventory
         
 
Average Inventory
=
10
,
387
,
000
,
000
+
10
,
268
,
000
,
000
2
=
10
,
327
,
500
,
000
Average Inventory= 
2
10,387,000,000+10,268,000,000
         
 =10,327,500,000
Step 3: Calculate Inventory Turnover Ratio

Inventory Turnover Ratio
=
24
,
596
,
000
,
000
10
,
327
,
500
,
000
≈
2.38
Inventory Turnover Ratio= 
10,327,500,000
24,596,000,000
         
 ≈2.38
Conclusion

The inventory turnover ratio for Johnson & Johnson in FY2022 is approximately 2.38. This means that JNJ sold its inventory roughly 2.38 times during the fiscal year.

Conventional Inventory Management

In the case of Johnson & Johnson, conventional inventory management may not be entirely meaningful due to the nature of its business. JNJ operates in the pharmaceutical and consumer health sectors, where inventory management can be complex due to factors such as:

Product Lifecycles: Many pharmaceutical products have a limited shelf life and require careful management to avoid obsolescence.
Regulatory Compliance: The pharmaceutical industry is heavily regulated, and inventory management must comply with strict guidelines, which can complicate conventional methods.
Diverse Product Range: JNJ has a wide range of products across various categories, making it challenging to apply a one-size-fits-all inventory management approach.
Demand Variability: Demand for healthcare products can be unpredictable, influenced by factors such as seasonal illnesses, public health crises, and changes in consumer behavior.
These factors suggest that while the inventory turnover ratio provides some insight, it may not fully capture the complexities of JNJ's inventory management practices.

Which business segment of JnJ will be treated as a discontinued operation from August 30, 2023 onward?The Consumer Health business segment will be treated as a discontinued operation from August 30, 2023 onward.It appears that Johnson & Johnson did not discontinue any operations on August 30, 2023. The company continues to operate actively and has reported its Q4 results for 2024, with revenues and earnings exceeding estimates. If you are looking for specific information about any business segment being treated as a discontinued operation, please provide more details or clarify your request.

What is the amount of the cash proceeds that JnJ realised from the separation of Kenvue (formerly Consumer Health business segment), as of August 30, 2023?JnJ realised $13.2 billion in cash proceeds from the separation of Kenvue. As of August 30, 2023, the exact cash proceeds that Johnson & Johnson (JnJ) realized from the separation of Kenvue (formerly the Consumer Health business segment) were not explicitly detailed in the available information. However, it was mentioned that the anticipated benefits from the separation would be reported in JnJ's Q4 and full-year 2024 results.

For more comprehensive details, it is recommended to refer to Johnson & Johnson's Annual Report on Form 10-K for the fiscal year ended December 31, 2023, which will include a comprehensive list of risks and uncertainties related to the separation, including financial aspects.Which region had the Highest EBITDAR Contribution for MGM during FY2022?Las Vegas resorts contributed ~90% of company level EBITDAR during FY2022.MGM's EBITDAR contribution by region for FY2022 indicated that MGM China had a significant performance, contributing to the overall trend. However, specific details about which region had the highest EBITDAR contribution were not explicitly mentioned in the search results.

For more detailed information, you may refer to the full financial report or analysis from MGM Resorts International. You can find more details in the article here.What was MGM's interest coverage ratio using FY2022 Adjusted EBIT as the numerator and annual Interest Expense as the denominator?As adjusted EBIT is negative, coverage ratio is zero To calculate MGM's interest coverage ratio for FY2022, we will use the following formula:

Interest Coverage Ratio
=
Adjusted EBIT
Interest Expense
Interest Coverage Ratio= 
Interest Expense
Adjusted EBIT
         
 
From the income statement for FY2022:

Adjusted EBIT (EBIT) = $2,765,115,000
Interest Expense = $594,954,000
Now, we can calculate the interest coverage ratio:

Interest Coverage Ratio
=
2
,
765
,
115
,
000
594
,
954
,
000
≈
4.64
Interest Coverage Ratio= 
594,954,000
2,765,115,000
         
 ≈4.64
Thus, MGM's interest coverage ratio for FY2022 is approximately 4.64.

Which region had the worst topline performance for MGM during FY2022?MGM China experienced the worst topline performance amongst the other regions presented. Its revenue declined 44% in FY2022 whereas the other regions presented increased their revenues.The income statement data for MGM Resorts International (MGM) does not provide a breakdown of revenue by region for FY2022. To determine which region had the worst topline performance, we would typically need to look at the company's segment reporting or regional performance data, which is often found in the company's annual report or 10-K filing.

If you have access to MGM's annual report or specific regional performance data, I can help analyze that information. Otherwise, you may need to consult MGM's investor relations website or financial filings for detailed regional performance metrics.Which type of debt received the largest investment among the short term investments for MGM in H1 FY2023?the biggest short term investment is in corporate bonds (almost 82% of the total investment)In the first half of FY2023, MGM Resorts International did not report any short-term investments. The balance sheet indicates that there were no short-term investments listed for that period.

If you have any other questions or need further information, feel free to ask!We want to calculate a financial metric. Please help us compute it by basing your answers off of the statement of income and the statement of cash flows. Here's the question: what is the FY2015 unadjusted EBITDA % margin for Netflix? Calculate unadjusted EBITDA using unadjusted operating income and D&A (from cash flow statement).5.4% To calculate the FY2015 unadjusted EBITDA % margin for Netflix, we need to follow these steps:

Extract the unadjusted operating income and depreciation & amortization (D&A) from the financial statements for FY2015.
Calculate unadjusted EBITDA using the formula: \text{EBITDA} = \text{Operating Income} + \text{D&A}
Calculate the EBITDA % margin using the formula: \text{EBITDA % Margin} = \left( \frac{\text{EBITDA}}{\text{Total Revenue}} \right) \times 100
Step 1: Extract Data for FY2015

From the income statement:

Operating Income (FY2015): $305,826,000
Total Revenue (FY2015): $6,779,511,000
From the cash flow statement:

Depreciation & Amortization (D&A) (FY2015): $3,547,045,000
Step 2: Calculate Unadjusted EBITDA

EBITDA
=
305
,
826
,
000
+
3
,
547
,
045
,
000
=
3
,
852
,
871
,
000
EBITDA=305,826,000+3,547,045,000=3,852,871,000
Step 3: Calculate EBITDA % Margin

\text{EBITDA % Margin} = \left( \frac{3,852,871,000}{6,779,511,000} \right) \times 100 \approx 56.8\%
Conclusion

The FY2015 unadjusted EBITDA % margin for Netflix is approximately 56.8%.

What is the quantity of restructuring costs directly outlined in Pepsico's income statements for FY2022? If restructuring costs are not explicitly outlined then state 0.Pepsico's restructuring costs in FY2022 amounted to $411 million . PepsiCo's income statement for FY2022 does not explicitly outline any restructuring costs. Therefore, the quantity of restructuring costs is 0.



Question Answer ShmoneyAI (ChatGPT-4o-mini) Answer Is Correct/Wrong

At the Pepsico AGM held on May 3, 2023, what was the outcome of the shareholder vote on the shareholder proposal for a congruency report by Pepsico on net-zero emissions policies?The shareholder proposal for a congruency report by Pepsico on net-zero emissions policies was defeated.At PepsiCo's AGM on May 3, 2023, shareholders voted in favor of the company's net-zero emissions policies. This outcome indicates strong support from shareholders for PepsiCo's commitment to reducing its carbon footprint, aligning with global trends towards sustainability and reflecting the company's strategic focus on environmental responsibility.

By how much did Pepsico increase its unsecured five year revolving credit agreement on May 26, 2023?$400,000,000 increase. On May 26, 2023, PepsiCo did not announce an increase in its unsecured five-year revolving credit agreement. The latest information available does not indicate any changes to PepsiCo's financial agreements related to this credit facility.

As of May 26, 2023, what is the total amount Pepsico may borrow under its unsecured revolving credit agreements?Total amount Pepsico may borrow under unsecured revolving credit agreements = $8,400,000,000.As of May 26, 2023, PepsiCo terminated its previous $3.8 billion five-year unsecured revolving credit agreement. On the same date, PepsiCo entered into a new $4.2 billion 364-day unsecured revolving credit agreement. This new agreement allows PepsiCo to borrow up to $4.2 billion, with the possibility to increase the commitments to up to $4.95 billion, subject to agreement from existing or additional lenders.

Were there any potential events that are not in Pfizer's standard business operations that substantially increased net income in 2019?Yes, the gain on completion of Consumer Healthcare JV Transaction In 2019, Pfizer's net income was significantly influenced by several factors that were not part of its standard business operations. Here are some key points:

Total Revenue: Pfizer reported a total revenue of approximately $50.1 billion in 2019, which included substantial contributions from its pharmaceutical products.

Non-Operating Income: The company had a notable amount of non-operating income, which amounted to approximately $51.6 billion. This figure includes income from investments and other non-core activities, which can significantly impact net income.

Other Non-Operating Income: Pfizer reported other non-operating income of approximately $835 million, which could include gains from asset sales or other financial activities outside of its primary business operations.

Income Before Tax: The income before tax was approximately $16.6 billion, indicating that the company had substantial earnings before accounting for taxes.

Net Income: The net income for the year was approximately $16.0 billion, reflecting a strong performance overall, but also indicating that non-standard events or income sources contributed to this figure.

Tax Impact: The income tax expense was approximately $583 million, which suggests that the effective tax rate was relatively low compared to the income before tax.

In summary, while Pfizer's core pharmaceutical operations contributed to its revenue, significant non-operating income and other financial activities played a crucial role in substantially increasing its net income in 2019.

How much does Pfizer expect to pay to spin off Upjohn in the future in USD million?77.78 Pfizer expects to receive a cash payment of $12 billion from Newco as part of the spin-off of Upjohn.

For Pfizer, which geographic region had the biggest drop in Q22023 year over year revenues (on a percentage basis)?Developed Rest of the World To determine which geographic region had the biggest drop in Pfizer's Q2 2023 year-over-year revenues on a percentage basis, we need to analyze the revenue data for different regions for Q2 2023 and Q2 2022.

Unfortunately, the income statement data retrieved does not provide a breakdown of revenues by geographic region. To find this information, we would typically look at Pfizer's quarterly earnings report or investor relations materials that detail regional performance.

If you would like, I can help you search for the latest earnings report or news articles that might contain this information. Would you like me to do that?

What drove the reduction in SG&A expense as a percent of net sales in FY2023?Lower marketing expenses and leverage of incentive compensation due to higher sales. The answer here assumes FY2023 refers to the 12 months ended on January 28, 2023 (although the company refers to this period as its fiscal 2022.The reduction in Selling, General, and Administrative (SG&A) expenses as a percentage of net sales in FY2023 can be attributed to several factors, including:

Increased Sales Revenue: A significant increase in net sales can lead to a lower percentage of SG&A expenses relative to sales. If a company experiences strong revenue growth, fixed SG&A costs may not increase at the same rate, resulting in a lower percentage.

Cost Control Measures: Companies often implement cost-cutting initiatives to manage expenses more effectively. This can include reducing discretionary spending, optimizing workforce levels, and improving operational efficiencies.

Streamlining Operations: Companies may have streamlined their operations, leading to more efficient processes and reduced overhead costs. This can involve automation, better supply chain management, or renegotiating contracts with suppliers.

Focus on Core Activities: A shift in focus towards core business activities and away from non-essential functions can help reduce SG&A expenses. Companies may divest non-core segments or reduce spending on marketing and administrative functions.

Technology Investments: Investments in technology can lead to long-term savings in SG&A expenses. Automation and digital tools can enhance productivity and reduce the need for manual processes.

Improved Profitability: If a company improves its overall profitability, it may be able to absorb SG&A costs more effectively, leading to a lower percentage of these expenses relative to sales.

Changes in Business Strategy: A shift in business strategy, such as targeting higher-margin products or markets, can also impact SG&A expenses as a percentage of sales.

To provide a more specific analysis, it would be helpful to look at the financial statements and management discussions from the company in question for FY2023.

What percent of Ulta Beauty's total spend on stock repurchases for FY 2023 occurred in Q4 of FY2023?36%. The answer here assumes FY2023 refers to the 12 months ended on January 28, 2023 (although the company refers to this period as its fiscal 2022.For FY 2023, Ulta Beauty's total spend on stock repurchases was $995,738,000. The spend in Q4 of FY 2023 was $155,187,000.

To calculate the percentage of the total spend that occurred in Q4:

Percentage
=
(
Q4 Spend
Total Spend
)
×
100
Percentage=( 
Total Spend
Q4 Spend
         
 )×100
Percentage
=
(
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,
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,
000
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,
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,
000
)
×
100
≈
15.59
%
Percentage=( 
995,738,000
155,187,000
         
 )×100≈15.59%
Therefore, approximately 15.59% of Ulta Beauty's total spend on stock repurchases for FY 2023 occurred in Q4.

Among all of the derivative instruments that Verizon used to manage the exposure to fluctuations of foreign currencies exchange rates or interest rates, which one had the highest notional value in FY 2021?Cross currency swaps. Its notional value was $32,502 million. The specific notional value of Verizon's derivative instruments for FY 2021 was not directly provided in the available data. The information retrieved primarily pertains to a Verizon bond with a maturity date of March 22, 2041, offering a coupon of 3.4000% paid biannually. Unfortunately, there were no specific details regarding the notional value of derivative instruments for that fiscal year included in the search results.

For precise figures, it may be necessary to refer to Verizon's official financial statements or disclosures for FY 2021.As of FY 2021, how much did Verizon expect to pay for its retirees in 2024?The estimated pension benefits were $1097 million, and the estimated health care and life insurance benefits were $862 million.As of FY 2021, Verizon expected to pay approximately $5.9 billion for its retirees in 2024. This amount is part of a pension risk transfer deal that involves transferring pension liabilities for 56,000 retirees to Prudential Insurance Co. and Reinsurance Group of America. The annuity transfer payments for these retirees are scheduled to begin on July 1, 2024. This transaction is noted as the second significant pension stripping incident affecting Verizon retirees, following an earlier deal in 2012 that impacted 41,000 retirees for a total of $8.4 billion.

Based on the information provided primarily in the statement of income, what is the FY2018 - FY2019 change in unadjusted operating income % margin for Walmart? Answer in units of percents and round to one decimal place.0.2% To calculate the change in unadjusted operating income % margin for Walmart from FY2018 to FY2019, we can use the following formula:

\text{Operating Income % Margin} = \left( \frac{\text{Operating Income}}{\text{Total Revenue}} \right) \times 100
For FY2018:

Operating Income (2018): $4,467,000,000
Total Revenue (2018): $136,267,000,000
\text{Operating Income % Margin (2018)} = \left( \frac{4,467,000,000}{136,267,000,000} \right) \times 100 \approx 3.3\%
For FY2019:

Operating Income (2019): $6,067,000,000
Total Revenue (2019): $138,793,000,000
\text{Operating Income % Margin (2019)} = \left( \frac{6,067,000,000}{138,793,000,000} \right) \times 100 \approx 4.4\%
Change in Operating Income % Margin:

\text{Change} = \text{Operating Income % Margin (2019)} - \text{Operating Income % Margin (2018)} = 4.4\% - 3.3\% = 1.1\%
Thus, the FY2018 - FY2019 change in unadjusted operating income % margin for Walmart is 1.1%.

What is the FY2018 - FY2020 3 year average unadjusted EBITDA % margin for Walmart? Define unadjusted EBITDA as unadjusted operating income + depreciation and amortization from the cash flow statement. Answer in units of percents and round to one decimal place. Calculate what was asked by utilizing the line items clearly shown in the P&L statement and the cash flow statement.6.2% To calculate the FY2018 - FY2020 3-year average unadjusted EBITDA % margin for Walmart, we will follow these steps:

Extract the relevant data for each fiscal year from the income statement and cash flow statement.
Calculate unadjusted EBITDA for each year using the formula:
Unadjusted EBITDA
=
Operating Income
+
Depreciation and Amortization
Unadjusted EBITDA=Operating Income+Depreciation and Amortization
Calculate the EBITDA % margin for each year using the formula: \text{EBITDA % Margin} = \left( \frac{\text{Unadjusted EBITDA}}{\text{Total Revenue}} \right) \times 100
Calculate the average EBITDA % margin over the three years.
Step 1: Extract Relevant Data

FY2018

Operating Income: $4,467,000,000
Depreciation and Amortization: $2,702,000,000
Total Revenue: $136,267,000,000
FY2019

Operating Income: $6,067,000,000
Depreciation and Amortization: $10,678,000,000
Total Revenue: $138,793,000,000
FY2020

Operating Income: $5,322,000,000
Depreciation and Amortization: $480,000,000
Total Revenue: $141,671,000,000
Step 2: Calculate Unadjusted EBITDA

FY2018

Unadjusted EBITDA
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 =6,067,000,000+10,678,000,000=16,745,000,000
FY2020
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Unadjusted EBITDA 
2020
         
 =5,322,000,000+480,000,000=5,802,000,000
Step 3: Calculate EBITDA % Margin

FY2018

\text{EBITDA % Margin}_{2018} = \left( \frac{7,169,000,000}{136,267,000,000} \right) \times 100 \approx 5.3\%
FY2019

\text{EBITDA % Margin}_{2019} = \left( \frac{16,745,000,000}{138,793,000,000} \right) \times 100 \approx 12.0\%
FY2020

\text{EBITDA % Margin}_{2020} = \left( \frac{5,802,000,000}{141,671,000,000} \right) \times 100 \approx 4.1\%
Step 4: Calculate the Average EBITDA % Margin

\text{Average EBITDA % Margin} = \frac{5.3 + 12.0 + 4.1}{3} \approx 7.1\%
Final Answer

The FY2018 - FY2020 3-year average unadjusted EBITDA % margin for Walmart is approximately 7.1%.


